[n-Field Asseml)ly Manual

PDG Domus Manufacturing’ LILC

513:0¢

0} ]
G

Sealed for Structural Review Only - Plant Manufacturing manual pages

13-22,24,26-37G,52-54, 110-122, 134-150 and 166-179. Architectural Plans
S1-S9

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp

graphics
PDG Domus Seals


Table of Contents
In-Field Assembly Manual

In-Field QA Sign-Off 1-6
Finished Product Examples-Exterior View 7
Finished Product Examples-Interior View 8
Home Assembly Steps 9
Definitions
Parts identification Cell (typical) 10
Parts identification Cell D-Upper level 11
Parts identification Roof (typical) Type 2 12
Parts identification Roof (typical) Type 1 12A
Parts identification Footing-Foundation 13
Parts identification Major component identification 14
Parts identification Major component identification Type 1 14A
Parts identification Foundation Detail 23
Schedules
Schedule-Steel Cell 15
Schedule-Steel Cell-Upper level 16
Schedule-Steel Roof 17
Schedule-Steel Footings 18
Schedule-Welding Cell 19
Schedule-Welding Cell-Upper level 20
Schedule-Welding Roof 21
Schedule-Welding Footings 22
Site Assembly
Footing-Foundation View Drafting Elevation 24
Footing-Foundation View Drafting Rat wall 25
Footing-Foundation View A & B Installation-Connector pins Finished checklist 26
Footing-Foundation Installation-Connector pins Detail 1 27
Cell A View A & B Installation-Cell to foundation Setting cell 28
Cell A View B & C Installation-Cell to foundation Setting cell 29
Cell A View C & D Installation-Cell to foundation Setting cell 30
Cell A View A & B Installation-Cell to foundation Cell mounted 31
Cell A View A & B Installation-Cell to foundation Detail 1 32
Cell A View C & D Installation-Water tank 33
Cell A View A & B Installation Cell to foundation Cell mounted Exterior view Finished
checklist 34
Cell B View A & B Installation Cell to foundation Setting cell 35
Cell B View A & D Installation-Cell to foundation Setting cell 36
Cell B View A & D Installation-Cell to foundation Cell mounted 37
Cell B View A & B Installation-Cell to foundation Cell mounted 38
Cell B View B & C Installation-Cell to foundation Cell mounted 39
Cell B View B & C Installation-Bolts Detail 5 40
Cell B View B & C Installation-Bolts Detail 6 41
Cell B View B & C Installation-Bolts Detail 7 42
Cell B View B & C Installation-Bolts Detail 8 43
Cell B View B & C Installation-Bolts Detail 9 44
Cell B View B & C Installation-Bolts Detail 10 45
Cell B View B & C Installation-Bolts Detail 11 46
Cell B View B & C Installation-Bolts Detail 12 47
Cell B View B & C Electrical re-assembly Detail 14 48 0\_\.)- APF’RO
Cell B View B & C Electrical re-assembly Detail 14-1 49 D b%
Cell B View B & C Installation-Cell to foundation Detail 1 50 o
April 11, 2006

PDG Domus 060323-1



Table of Contents
In-Field Assembly Manual

Site Assembly

Cell B View A & D Installation-Water tank Detail 13

Cell B View B & C Installation-Cell to foundation Detail 2

Cell B View B & C Installation-Cell to foundation Detail 3

Cell B View B & C Installation-Cell to foundation Detail 4

Cell B View B & C Installation-Cell to cell Cell mounted

Cell B View A & B Installation-Cell to foundation Cell mounted Exterior view Finished checklist
Cell A & B View B & C Installation-Connector pins to Install cell D Setting pins

Cell A & B View B & C Installation-Connector pines Install cell D Pins mounted Finished checklist 58

Cell D View A & D Installation-Cell to cell Setting cell
Cell D View B & C Installation-Cell to cell Setting cell
Cell D View B & C Installation-Cell to cell Cell mounted

Cell D View A & D Installation-Bolts Detail 1
Cell D View A & D Installation-Bolts Detail 2
Cell D View A & D Installation-Bolts Detail 3
Cell D View A & D Installation-Bolts Detail 4
Cell D View A & D Installation-Bolts Detail 5
Cell D View A & D Installation-Bolts Detail 5-1
Cell D View A & D Installation-Bolts Detail 6
Cell D View A & D Installation-Bolts Detail 6-1
Cell D View A & D Installation-Bolts Detail 7
Cell D View A & D Installation-Bolts Detail 7-1
Cell D View A & D Installation-Bolts Detail 8
Cell D View A & D Installation-Bolts Detail 8-1
Cell D View A & D Installation-Bolts Detail 9
Cell D View A & D Installation-Bolts Detail 10
Cell D View B & C Installation-Bolts Detail 11
Cell D View B & C Installation-Bolts Detail 12

Cell D View A & B Installation-Cell to cell Cell mounted Exterior view

Cell D View A & D Installation-Cell to cell Cell mounted Finished checklist
Cell E View A & D Installation-Cell to cell Setting cell

Cell E View B & C Installation-Cell to cell Setting cell

Cell E View A & D Installation-Cell to cell Cell mounted

Cell E View B & C Installation-Cell to cell Cell mounted

Cell E View A & D Installation-Bolts Detail 1
Cell E View A & D Installation-Bolts Detail 2
Cell E View A & D Installation-Bolts Detail 3
Cell E View A & D Installation-Bolts Detail 4
Cell E View A & D Installation-Bolts Detail 5
Cell E View A & D Installation-Bolts Detail 6
Cell E View A & D Installation-Bolts Detail 7
Cell E View A & D Installation-Bolts Detail 8
Cell E View B & C Installation-Bolts Detail 9
Cell E View B & C Installation-Bolts Detail 10
Cell E View B & C Installation-Bolts Detail 11
Cell E View B & C Installation-Bolts Detail 12
Cell E View B & C Installation-Bolts Detail 13
Cell E View B & C Installation-Bolts Detail 14
Cell E View B & C Installation-Bolts Detail 14-1
Cell E View B & C Installation-Bolts Detail 15

©)

April 11, 2006
PDG Domus 060323-1



Table of Contents
In-Field Assembly Manual

Site Assembly
Cell E View A & B Installation-Bolts Detail 16 100
Cell E View A & D Installation-Bolts Detail 17 101
Cell E View A & D Installation-Bolts Detail 18 102
Cell E View B & C Installation-Bolts Detail 19 103
Cell E View A & D Installation-Bolts Detail 20 104
Cell E View A & D Installation-Bolts Detail 21 105
Cell E View A & D Installation-Bolts Detail 21-1 106
Cell E View A & D Installation-Bolts Detail 22 107
Cell E View B & C Installation-Cell to cell Staircase railing Detail 1 108
Cell E View B & C Installation-Cell to cell Staircase railing Detail 2 109
Cell E View C Installation-Cell to cell Plumbing Detail 1 110
Cell E View A & D Installation-Cell to Cell Electrical re-assembly Detail 1 111
Cell E View A & B Installation-Cell to cell Cell mounted Exterior view Finished checklist 112
Cell C View B & C Installation-Cell to foundation Setting cell 113
Cell C View B & C Installation-Cell to foundation Cell mounted 114
Cell C View A & D Installation-Cell to foundation Cell mounted 115
Cell C View B & C Installation-Bolts Detail 1 116
Cell C View B & C Installation-Bolts Detail 2 117
Cell C View C & D Installation-Bolts Detail 3 118
Cell C View C & D Installation-Bolts Detail 4 119
Cell C View A & B Installation-Bolts Detail 5 120
Cell C View A & B Installation-Bolts Detail 6 121
Cell C View A & B Installation-Bolts Detail 7 122
Cell C View C & D Installation-Bolts Detail 8 123
Cell C View C & D Installation-Bolts Detail 9 124
Cell C View C & D Installation-Bolts Detail 10 125
Cell C View B & C Installation-Bolts Detail 11 126
Cell C View B & C Installation-Bolts Detail 12 127
Cell C View B & C Plumbing Detail 1 128
Cell C View C & D Plumbing Detail 2 129
Cell C & B View A & D Plumbing See through view Detail 3 130
Cell C View D Plumbing See through view Detail 4 131
Cell C & B View A Plumbing See through detail Detail 5 132
Cell C & B View A Plumbing See through view Detail 6 133
Cell C View A & B Installation-Cell to foundation Cell mounted Exterior view Finished
checklist 134
End Gable View A & B Installation-End gable Detail 1 135
End Gable View A & B Installation-End gable Gable mounted 136
End Gable View A & B Installation-End gable 2 Gable 2 mounted 137
End Gable View A & B Installation-Bolts Detail 1 138
Roof View A & B Installation-Lower section Detail 1 139
Roof View A & B Installation-B side Type 1 Detail 1 139A
Roof View C & D Installation-B side Type 1 Detail 2 139B
Roof View C & D Installation-D side Type 1 Detail 3 139C
Roof View C & D Installation-Ridge beam Detail 4 139D
Roof View C & D Installation-Bolts Lower section Detail 2 140
Roof View A & B Installation-Knee wall 141
Roof View C & D Installation-Bolts Knee wall Detail 3 142 . APP
Roof View C & D Installation-Bolts Knee wall Detail 4 143 \0\' ' ROL
Roof View A & D Installation-Lower section 144 62‘ %
Roof View A & B Installation-Bolts Knee wall Detail 5 145
Roof View A & B Installation-Upper section Detail 6 146

April 11, 2006
PDG Domus 060323-1



Table of Contents

In-Field Assembly Manual

Roof View A & B Installation-Upper section

Roof View A & D Installation-Bolts Upper section Detail 7
Roof View A & B Finished checklist

Cell C View C & D Installation-Deck cap

Cell C View C & D Installation-Deck cap Detail 1

Cell C View A & B Installation-Deck cap Detail 2

Cell C View C & D Installation-Deck cap Detail 3

Cell C View C & D Installation-Deck cap Detail 4

Cell C View C & D Installation-Deck cap Detail 5

Cell C View B & C Installation-Deck cap Detail 6

Cell C View C & D Installation-Deck cap Detail 7

Cell C View C & D Installation-Deck cap Detail 8

Cell C View C & D Installation-Deck cap Finished checklist
Small front porchType 1 View A & D-Installation-Bolts Detail 1
Small front porch Type 1 View A & D-Installation-Bolts Detail 2
Small front porch Type 1 View A & D-Installation-Bolts Detail 3
Small front porch Type 1 View A & D-Installation-Bolts Detail 4
Small front porch Type 1 View A & D-Finished Installation
Large front porch Type 2 View A & D-Installation-Bolts Detail 1
Large front porch Type 2 View A & D-Installation-Bolts Detail 2
Large front porch Type 2 View A & D-Installation-Bolts Detail 3
Large front porch Type 2 View A & D-Installation-Bolts Detail 4
Large front porch Type 2 View A & D-Finished Installation
Rear Deck Type 1 View C & B-Installation-Bolts Detail 1

Rear Deck Type 1 View C & B-Installation-Bolts Detail 2

Rear Deck Type 1 View C & B-Installation-Bolts Detail 3

Rear Deck Type 1 View C & B-Finished Installation

Third Floor Bath Type 1 View A & B-Wall Installation Detail 1
Third Floor Bath Type 1 View A & B-Shower Installation Detail 2
Third Floor Bath Type 1 View A & B-Toilet & Sink Installation Detail 3
Continuous Foundation Type 1-Part Identification

Continuous Foundation Type 1-Installation Steps 1-10
Continuous Foundation Type 1-Installation Steps 11-15
Continuous Foundation Type 1-Installation Steps 16-18
Continuous Foundation Type 1-Installation Steps 19-21
Continuous Foundation Type 1-Installation Steps 22-25
Continuous Foundation Type 1-Installation Steps 26-36

Cell B Assembly-Cell HVAC installation Bottom view Type 2
Basement Installation (typical) Block/Poured in place Staircase
Basement Installation (typical) Staircase Part identification
Basement Installation (typical) Staircase Fastening 1
Basement Installation (typical) Staircase Fastening 2
Basement Installation (typical) Staircase Procedure 1
Basement Installation (typical) Staircase Procedure 2
Basement Installation (typical) Staircase Procedure 3

— N = — — —

147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191

O
&

April 11, 2006
PDG Domus 060323-1

\\J. APPRO

b%



In-Field Assembly QA Sign-Off

PAGE 1 of 6

DATA PLATE
Plant # Year ldentifier Unique item identifier Model/Serial #
1 02022003 A Hartford 1
ate Associates Name Associates # |

In-Field Assembly QA Sign-Off

125 individual steps with QA standards and sign-off.

Site Assembly Standards and Processes see (In-Field Assembly Manual pages 24-191)

Footing-Foundation View Drafting Elevation 24
Footing-Foundation View Drafting Rat wall 25
Footing-Foundation View A & B Installation-Connector pins Finished checklist 26
Footing-Foundation Installation-Connector pins Detail 1 27
Cell A View A & B Installation-Cell to foundation Setting cell 28
Cell A View B & C Installation-Cell to foundation Setting cell 29
Cell A View C & D Installation-Cell to foundation Setting cell 30
Cell A View A & B Installation-Cell to foundation Cell mounted 31
Cell A View A & B Installation-Cell to foundation Detail 1 32
Cell A View C & D Installation-Water tank 33
Cell A View A & B Installation Cell to foundation Cell mounted Exterior

view Finished checklist 34
Cell B View A & B Installation Cell to foundation Setting cell 35
Cell B View A & D Installation-Cell to foundation Setting cell 36
Cell B View A & D Installation-Cell to foundation Cell mounted 37
Cell B View A & B Installation-Cell to foundation Cell mounted 38
Cell B View B & C Installation-Cell to foundation Cell mounted 39
Cell B View B & C Installation-Bolts Detail 5 40
Cell B View B & C Installation-Bolts Detail 6 41
Cell B View B & C Installation-Bolts Detail 7 42
Cell B View B & C Installation-Bolts Detail 8 43
Cell B View B & C Installation-Bolts Detail 9 44
Cell B View B & C Installation-Bolts Detail 10 45
Cell B View B & C Installation-Bolts Detail 11 46
Cell B View B & C Installation-Bolts Detail 12 47
Cell B View B & C Electrical re-assembly Detail 14 48

Cell B View B & C Electrical re-assembly Detail 14-1
Cell B View B & C Installation-Cell to foundation Detail 1

49 . AP

&

PAGE 1

April 11, 2006
PDG Domus 060323-1

b%



In-Field Assembly QA Sign-Off PAGE 2 of 6
DATA PLATE

Plant # Year Identifier Unique item identifier Model/Serial #
1 02022003 A Hartford 1
Date Associates Name Associates #
Cell B View A & D Installation-Water tank Detail 13 51
Cell B View B & C Installation-Cell to foundation Detail 2 52
Cell B View B & C Installation-Cell to foundation Detail 3 53
Cell B View B & C Installation-Cell to foundation Detail 4 54
Cell B View B & C Installation-Cell to cell Cell mounted 55
Cell B View A & B Installation-Cell to foundation Cell mounted Exterior
view Finished checkilist 56
Cell A & B View B & C Installation-Connector pins to Install cell D Setting pins 57
Cell A & B View B & C Installation-Connector pines Install cell D Pins mounted
Finished checklist 58
Cell D View A & D Installation-Cell to cell Setting cell 59
Cell D View B & C Installation-Cell to cell Setting cell 60
Cell D View B & C Installation-Cell to cell Cell mounted 61
Cell D View A & D Installation-Bolts Detail 1 62
Cell D View A & D Installation-Bolts Detail 2 63
Cell D View A & D Installation-Bolts Detail 3 64
Cell D View A & D Installation-Bolts Detail 4 65
Cell D View A & D Installation-Bolts Detail 5 66
Cell D View A & D Installation-Bolts Detail 5-1 67
Cell D View A & D Installation-Bolts Detail 6 68
Cell D View A & D Installation-Bolts Detail 6-1 69
Cell D View A & D Installation-Bolts Detail 7 70
Cell D View A & D Installation-Bolts Detail 7-1 71
Cell D View A & D Installation-Bolts Detail 8 72
Cell D View A & D Installation-Bolts Detail 8-1 73
Cell D View A & D Installation-Bolts Detail 9 74
Cell D View A & D Installation-Bolts Detail 10 75
Cell D View B & C Installation-Bolts Detail 11 76
Cell D View B & C Installation-Bolts Detail 12 77
Cell D View A & B Installation-Cell to cell Cell mounted Exterior view 780\_\_)_ APPROL
Cell D View A & D Installation-Cell to cell Cell mounted Finished checklist 60\ %
Cell E View A & D Installation-Cell to cell Setting cell 80
PAGE 2
April 11, 2006

PDG Domus 060323-1



In-Field Assembly QA Sign-Off PAGE 3 of 6
DATA PLATE
Plant # Year ldentifier Unique item identifier Model/Serial #
1 02022003 A Hartford 1
Date Associates Name Associates #

Cell E View B & C Installation-Cell to cell Setting cell
Cell E View A & D Installation-Cell to cell Cell mounted
Cell E View B & C Installation-Cell to cell Cell mounted

Cell E View A & D Installation-Bolts Detail 1
Cell E View A & D Installation-Bolts Detail 2
Cell E View A & D Installation-Bolts Detail 3
Cell E View A & D Installation-Bolts Detail 4
Cell E View A & D Installation-Bolts Detail 5
Cell E View A & D Installation-Bolts Detail 6
Cell E View A & D Installation-Bolts Detail 7
Cell E View A & D Installation-Bolts Detail 8
Cell E View B & C Installation-Bolts Detail 9
Cell E View B & C Installation-Bolts Detail 10
Cell E View B & C Installation-Bolts Detail 11
Cell E View B & C Installation-Bolts Detail 12
Cell E View B & C Installation-Bolts Detail 13
Cell E View B & C Installation-Bolts Detail 14

Cell E View B & C Installation-Bolts Detail 14-1

Cell E View B & C Installation-Bolts Detail 15
Cell E View A & B Installation-Bolts Detail 16
Cell E View A & D Installation-Bolts Detail 17
Cell E View A & D Installation-Bolts Detail 18
Cell E View B & C Installation-Bolts Detail 19
Cell E View A & D Installation-Bolts Detail 20
Cell E View A & D Installation-Bolts Detail 21

Cell E View A & D Installation-Bolts Detail 21-1

Cell E View A & D Installation-Bolts Detail 22

Cell E View B & C Installation-Cell to cell Staircase railing Detail 1

Cell E View B & C Installation-Cell to cell Staircase railing Detail 2

Cell E View C Installation-Cell to cell Plumbing Detail 1

Cell E View A & D Installation-Cell to Cell Electrical re-assembly Detail 1

81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107
108
109

10_\\J. APPR,

16$0

PAGE 3

April 11, 2006
PDG Domus 060323-1

b%



In-Field Assembly QA Sign-Off PAGE 4 of 6
DATA PLATE
Plant # Year Identifier Unique item identifier Model/Serial #
1 02022003 A Hartford 1
Date Associates Name Associates #

Cell E View A & B Installation-Cell to cell Cell mounted Exterior view Finished

checklist

Cell C View B & C Installation-Cell to foundation Setting cell

Cell C View B & C Installation-Cell to foundation Cell mounted
Cell C View A & D Installation-Cell to foundation Cell mounted
Cell C View B & C Installation-Bolts Detail 1

Cell C View B & C Installation-Bolts Detail 2

Cell C View C & D Installation-Bolts Detail 3

Cell C View C & D Installation-Bolts Detail 4

Cell C View A & B Installation-Bolts Detail 5

Cell C View A & B Installation-Bolts Detail 6

Cell C View A & B Installation-Bolts Detail 7

Cell C View C & D Installation-Bolts Detail 8

Cell C View C & D Installation-Bolts Detail 9

Cell C View C & D Installation-Bolts Detail 10

Cell C View B & C Installation-Bolts Detail 11

Cell C View B & C Installation-Bolts Detail 12

Cell C View B & C Plumbing Detail 1

Cell C View C & D Plumbing Detail 2

Cell C View C & D Plumbing Bottom view Detail 3

Cell C View A & D Plumbing Detail 4

Cell C View A & D Plumbing re-assembly Bottom view Detail 5
Cell C & B View A & D Plumbing re-assembly Bottom view Detail 6
Cell C View A & B Installation-Cell to foundation Cell mounted Exterior view
Finished checklist

End Gable View A & B Installation-End gable Detail 1

End Gable View A & B Installation-End gable Gable mounted
End Gable View A & B Installation-End gable 2 Gable 2 mounted
End Gable View A & B Installation-Bolts Detail 1

Roof View A & B Installation-Lower section Detail 1

Roof View A & B Installation-B side Type 1 Detail 1

112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133

134
135
136
137
138

&
PAGE 4

April 11, 2006
PDG Domus 060323-1

b%



In-Field Assembly QA Sign-Off PAGE 5 of 6
DATA PLATE

Plant # Year ldentifier Unique item identifier Model/Serial #
1 02022003 A Hartford 1
Date Associates Name Associates #
Roof View C & D Installation-B side Type 1 Detail 2 139B
Roof View C & D Installation-D side Type 1 Detail 3 139C
Roof View C & D Installation-Ridge beam Detail 4 139D
Roof View C & D Installation-Bolts Lower section Detail 2 140
Roof View A & B Installation-Knee wall 141
Roof View C & D Installation-Bolts Knee wall Detail 3 142
Roof View C & D Installation-Bolts Knee wall Detail 4 143
Roof View A & D Installation-Lower section 144
Roof View A & B Installation-Bolts Knee wall Detail 5 145
Roof View A & B Installation-Upper section Detail 6 146
Roof View A & B Installation-Upper section 147
Roof View A & D Installation-Bolts Upper section Detail 7 148
Roof View A & B Finished checklist 149
Cell C View C & D Installation-Deck cap 150
Cell C View C & D Installation-Deck cap Detail 1 151
Cell C View A & B Installation-Deck cap Detail 2 152
Cell C View C & D Installation-Deck cap Detail 3 153
Cell C View C & D Installation-Deck cap Detail 4 154
Cell C View C & D Installation-Deck cap Detail 5 155
Small front View A & D porch Type 1 Installation-Bolts Detail 1 156
Small front porch View A & D Type 1 Installation-Bolts Detail 2 157
Small front porch View A & D Type 1 Installation-Bolts Detail 3 158
Small front porch View A & D Type 1 Installation-Bolts Detail 4 159
Small front porch View A & D Type 1 Finished Installation 160
Large front porch View A & D Type 2 Installation Bolts Detail 1 161
Large front porch View A & D Type 2 Installation Bolts Detail 2 162
Large front porch View A & D Type 2 Installation Bolts Detail 3 163
Large front porch View A & D Type 2 Installation Bolts Detail 4 164
Large front porch View A & D Type 2 Finished Installation 165
Rear Deck View C & B Type 1 Installation Bolts Detail 1 1660\-\')‘APPROL
Rear Deck View C & B Type 1 Installation Bolts Detail 2 188‘ %
PAGE 5
April 11, 2006

PDG Domus 060323-1



In-Field Assembly QA Sign-Off PAGE 6 of 6
DATA PLATE

Plant # Year Identifier Unique item identifier Model/Serial #
1 02022003 A Hartford 1
Date Associates Name Associates #
Rear Deck View C & B Type 1 Installation Bolts Detail 3 168
Rear Deck View C & B Type 1 Finished Installation 169
Third Floor Bath View A & B Type 1 Wall Installation Detail 1 170
Third Floor Bath View A & B Type 1 Shower Installation Detail 2 171
Third Floor Bath View A & B Type 1 Toilet and Sink Installation Detail 3 172
Continuous Foundation Part Identification Type 1 173
Continuous Foundation Installation Type 1 Step 1 - 10 174
Continuous Foundation Installation Type 1 Step 11 - 15 175
Continuous Foundation Installation Type 1 Step 16 - 18 176
Continuous Foundation Installation Type 1 Step 19 - 21 177
Continuous Foundation Installation Type 1 Step 22 - 25 178
Continuous Foundation Type 1-Installation Steps 11-15 179
Continuous Foundation Type 1-Installation Steps 16-18 180
Continuous Foundation Type 1-Installation Steps 19-21 181
Continuous Foundation Type 1-Installation Steps 22-25 182
Continuous Foundation Type 1-Installation Steps 26-36 183
Cell B Assembly-Cell HVAC installation Bottom view Type 2 184
Basement Installation (typical) Block/Poured in place Staircase 185
Basement Installation (typical) Staircase Part identification 186
Basement Installation (typical) Staircase Fastening 1 187
Basement Installation (typical) Staircase Fastening 2 188
Basement Installation (typical) Staircase Procedure 1 189
Basement Installation (typical) Staircase Procedure 2 190
Basement Installation (typical) Staircase Procedure 3 191
\0\_\). APPROL
§ S
PAGE 6
April 11, 2006

PDG Domus 060323-1



Finished Product Examples
Exterior View

Front view

Side view Side view

I1"

.APP,
®)

S

Rear view PAGE 7

April 11, 2006
PDG Domus 060323-1



Finished Product Examples
Interior View

|
o -

Fanioih 4 AR

Staircase, view from Kitchen

View from Living room

1st floor Bathroom Living room Kitchen

. APP,
3 S

3rd floor Bedroom/Loft PAGE 8

April 11, 2006
PDG Domus 060323-1



Home Assembly Steps

TN

STEP 1: CellA STEP 2: Cell B STEP 3: Cell D STEP 4: Cell E

STEP 6: G2 (End Gable) STEP 7: L1 & U1 (Lower & Upper roof STEP 8: L2 & U2 (Lower & Upper roof STEP 9: Cell C STEP 10: Caulking and Sealant,
sections) sections) Railing system
@0\'\)- APPROL
3 ©
PAGE 9

April 11, 2006
PDG Domus 060323-1



16

10

18

27

28

Ceiling Joist

Floor Joist

Floor Plate

Top Beam

Bottom Beam

Header

Sill

Exterior Wall Stud

Exterior Wall Lateral Brace

Bl8lo|lo|~lo|a|s|w|n|-

Intermediate Columns

Corner Columns

DRAWING

Definitions-Parts

identification
Cell A (typical)

12 Corner Connectors
13 Cell Connectors
14 Top Girder
15 Bottom Girder
16 Intermediate Column
Connectors
17 Window Header
18 Floor Vent Cut-out
19 Hatch Cover
20 Duct Portal-4" Typical
21 Electrical Recepticle
22 Electrical Switch
23 Cable
24 Drywall
25 Trim
26 Exterior Panel & Insulation
27 Wall Fastener/weld/adhesive
28 Interior Wall Stud
62 Insulation
63 Ductwork
KEY PLAN
©
carc | ceter | cerar
S| 206 Fio
30

s @ Lo APPRS ,
| 3t oor
PAGE 10 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


—20

10

27

\_

N
(\

7

’K,
A

Ceiling Joist

1-2 Ceiling Joist-Floor Joist
2 Floor Joist
3 Floor Plate
4 Top Beam
5 Bottom Beam
6 Header
7 Sill
8 Exterior Wall Stud
9 Exterior Wall Lateral Brace
10 Intermediate Columns
11 Corner Columns
12 Corner Connectors
13 Cell Connectors
14 Top Girder
15 Bottom Girder
16 Intermediate Column
Connectors
17 Window Header
18 Floor Vent Cut-out
19 Hatch Cover
20 Duct Portal-4" Typical
21 Electrical Recepticle
22 Electrical Switch
23 Cable
24 Drywall
25 Trim
26 Exterior Panel
27 | Wall Fastener/weld/adhesive
28 Interior Wall Stud DRAWING
41 Cell to Roof Fastener Definitions-Parts
62 Insulation identification
63 Ductwork Cell D
Upper level
KEY PLAN
©
cac | carer | carn
of e 45| 22 | @) | - APPRS
s | 3 Per %
?ﬁ PAGE 11

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


24 Drywall

29 Ridge Beam
30 Purlin
31 Rafters
32 End Gable Framing
33 End Gable Window Header
34 End Gable Windowsill
35 Rafter Connector Plate
36 Dormer Rafters
37 Dormer Window Header
38 Dormer Window Opening
39 |Roof Shingle-Cap (composite)
40 Flying Gable End
41 Cell to Roof Fastener
42 End Gable Fastener points
43 Knee Wall
44 Upper Roof Section
45 Lower Roof Section
46 Roof Deck (composite)
47 End Gable Connector Pin
48 Box Gutter (composite)
62 Insulation
Definitions-Parts
Identification
Roof (typical)
Type 2
KKKKKKK
©
carc | caer | cerar
ol | s | 2 | @ ﬂ':%rm,
R3DB i | s %on %
?ﬁPAGE 12
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


c
o
c| 2

SRR
o_nrvme 9

aw.mm
0

5
5 olo| 8| @

......
Qo Q —_
g 2w Q| E @252 a5

5588

rrrrr
Ol3|O|5|8|a &8|E|S|Z 8|2 O
x

PDG Domus 060323-1

April 11, 2006

o [a)
219128/ 5 “ElElnEL|g <

= =

44444444444444444444

33333333333333333333

/&
o 2= ) M/n_
£o8 sl
= cC .=
m W m B E
= o c o9 = G
= o o
a T = A
[a)
O o
— = AN
F K Q @
7. Snta IN . .5 5
7 oot* e, = b8 &
70" A 5 33 3
795 o z ° s e
. =z Q : 5 T
s (1) H b b o2
i 2l > s 8@
z S&7\G § s
2 X S >3 -
.rs...v. ) / b s
v i 3 £6
AL s =

,%\ —


Lori Pingel
AC_stamp


61

26

Exterior Panel (Rat Wall)

49 Corner Connector Pin

50 Intermediate Connector Pin

51 J Bolt-Typical Galvanized
Anchor Bolts

52 Concrete Intermediate Pier

53 Concrete Corner Pier

54 Gusset

55 Base Plate

56 Corner Connecting Post

57 | Intermediate Connecting Post

58 Pre-Cast Corner Footing

59 Pre-Cast Footing Wall

60 |[Pre-Cast Footing Wall Channel

61 Pre-Cast Foundation & Wall
62 Insulation
63 Ductwork

KEY PLAN
Cell"C" Cell "B" Cell "A"
| o 2oiFisor | soaFioer
Loft Loft
3rd Floor | 3rd Floor

DRAWING

Definitions-Parts
identification
Footing-Foundation

st!é): Hartf%rb

PAGE 13

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


A Cell A
B CellB
C CellC
D CellD
E CellE
Gl Gable 1
G2 Gable 2
K1 Knee Wall 1
K2 Knee Wall 2
L1 Lower Section 1 (roof)
L1 Lower Section 2 (roof)
Ul Upper Section 1 (roof)
u2 Upper Section 2 (roof)
DRAWING
Definitions-Parts
identification
Major component
identification
KEY PLAN
©
cac | carer | carn
of e 45| 22 | @) | o APPRG:

Loft Loft
3rd Floor | 3rd Floor

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


&\

A Cell A
B Cell B
C CellC
D CellD
E CellE
Gl Gable 1
G2 Gable 2
Si1 Section 1 (roof)
S2 Section 2 (roof)
DRAWING
Definitions-Parts
identification
Major component
identification
KEY PLAN
©
Cell"C" Cell "B" Cell "A"
wih Deck | callE® | cel D 4&‘%
©> Over | 2nd Floor | 2nd Floor @ & Hartdn
Sv:DFﬁ\oav EVdL%’IlOm

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


1 Ceiling Joist Tubing .0625" x1.75" x 1.75" x 10' (ASTM A-513 Type 1)

2 Floor Joist Plate .25" x 6" x 10' (ASTM A36)

3 Floor Plate Plate .125" x 10' x 20" (ASTM A36)

4 Top Beam Tubing .1875" x 4" x 6" x 10' (ASTM A-500 Gr. B2 Structural)

5 Bottom Beam Tubing .1875" x 4" x 6" x 10" (ASTM A-500 Gr. B2 Structural)

6 Header Tubing .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

7 Sill Tubing .0625" x 2 "x 4" Assembly (ASTM A-513 Type 1)

8 Exterior Wall Stud Tubing .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

9 Exterior Wall Lateral Brace Tubing .0625" x 2" x 2" Assembly (ASTM A-513 Type 1)

10 Intermediate Columns Tubing .25" x 4" x 4" x 9" (ASTM A-500 Gr. B2 Structural)

11 Corner Columns Tubing .25" x 4" x 4" x 9' (ASTM A-500 Gr. B2 Structural)

12 Corner Connectors

13 Cell Connectors

14 Top Girder Tubing .1875" x 4" x 6" x 20' (ASTM A-500 Gr. B2 Structural)

15 Bottom Girder Tubing .1875" x 4" x 6" x 20' (ASTM A-500 Gr. B2 Structural)

16 Intermediate Column Connectors

17 Window Header Tubing .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

18 Floor Vent Cut-out

19 Hatch Cover Plate .125" x 15.625" x 12"(ASTM A36)

20 Duct Portal-4" Typical Piping .25" x 4" OD x 3.937" (ASTM A53A)

21 Electrical Recepticle

22 Electrical Switch 2% ‘BF \
23 Cable SR
24 Drywall 1
25 Trim

26 Exterior Panel

27 Wall Fastener

28 Interior Wall Stud .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

63 Ductwork DRAWING

.0625" x 16" x (ASTM A- 513 Type 1)

Schedule-Steel
Cell

KEY PLAN

©

Cell"C"

With Deck
Over

Cell 8"

Cell "E"
2nd Floor

Loft
3rd Floor

5 |5 @ A-AAEER

Cell "A"

Loit
3rd Floor

&\

PAGE 15

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


DRAWING

Schedule-Steel

Cell-Upper level

1 Ceiling Joist Tubing .0625" x 1.75" x 1.75" x 10' (ASTM A-513 Type 1)
1-2 Ceiling Joist-Floor Joist Plate .25"x 6" x 10" (ASTM A36)

2 Floor Joist Plate .25" x 6" x 10' (ASTM A36)

3 Floor Plate Plate .125" x 10" x 20' (ASTM A36)

4 Top Beam Tubing .1875" x 4" x 6" x 10' (ASTM A-500 Gr. B2 Structural)
5 Bottom Beam Tubing .1875" x 4" x 6" x 10" (ASTM A-500 Gr. B2 Structural)
6 Header Tubing .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

7 Sill Tubing .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

8 Exterior Wall Stud Tubing .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

9 Exterior Wall Lateral Brace Tubing .0625" x 2" x 2" Assembly (ASTM A-513 Type 1)
10 Intermediate Columns Tubing .25" x 4" x 4" x 9" (ASTM A-500 Gr. B2 Structural)
11 Corner Columns Tubing .25" x 4" x 4" x 9" (ASTM A-500 Gr. B2 Structural)
12 Corner Connectors

13 Cell Connectors

14 Top Girder Tubing .1875" x 4" x 6" x 20' (ASTM A-500 Gr. B2 Structural)
15 Bottom Girder Tubing .1875" x 4" x 6" x 20' (ASTM A-500 Gr. B2 Structural)
16 Intermediate Column Connectors

17 Window Header Tubing .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

18 Floor Vent Cut-out

19 Hatch Cover Plate .125" x 15.625" x 12"(ASTM A36)

20 Duct Portal-4" Typical Piping .25" x 4" OD x 3.937" (ASTM A53A)

21 Electrical Recepticle

22 Electrical Switch

23 Cable

24 Drywall

25 Trim
26 Exterior Panel

27 Wall Fastener

28 Interior Wall Stud .0625" x 2" x 4" Assembly (ASTM A-513 Type 1)

41 Cell to Roof Fastener

62 Insulation

63 Ductwork .0625" x 16" x (ASTM A-513 Type 1)

&\

KEY PLAN
Cell"C" Cell"B" Cell "A"
| s | 5 | @) LoneAPPRS
Loft Loft
3rd Floor | 3rd Floor PA G E 1 6

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


29 Ridge Beam Plate .5" x 6" x 24' (ASTM A36)

30 Purlin Tubing .125" x 2" x 5" x 12" (ASTM A-500 Gr.B2 Structural)
31 Rafters Tubing .125" x 2" x 5" x 184.656" (ASTM A-500 Gr. B2 Structural)
32 End Gable Framing Tubing .0625" x 2" x 4" (ASTM A-513 Type 1)

33 End Gable Window Header Tubing .0625" x 2" x 4" (ASTM A-513 Type 1)

34 End Gable Windowsill Tubing .0625" x 2" x 4" (ASTM A-513 Type 1)

35 Rafter Connector Plate Plate .5" x 5" x 24' & .313" x 3.5" x 6" L Angle (ASTM A36)
36 Dormer Rafters Tubing .0625" x 2" x 4" x 45.973" (ASTM A-513 Type 1)
37 Dormer Window Header Tubing .0625 x 2" x 4" (ASTM A-513 Type 1)

40 Flying Gable End Tubing .125" x 2" x 5" (ASTM A-500 Gr.B2 Structural)

42 End Gable Fastener Points L-Angle .125" x 2" x 2" x 6" (ASTM A36)

43 Knee Wall Tubing .0625 x 2" x 4" (ASTM A-513 Type 1)

44 Upper Roof Section Assembly

45 Lower Roof Section Assembly

DRAWING

Schedule-Steel
Roof

&\

KEY PLAN
Cell'c’ | cell"g" | Cell"A"
with Deck | Cell'E" | cell 0 %
e®):  Hartfor
Loft Loft
3rd Floor | 3rd Floor PAGE 17
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


49 Corner Connector Pin Tubing .25" x 3.5" x 3.5" x 12" (ASTM A-500)

50 Intermediate Connector Pin Tubing .25" x 4" x 4" x 24" (ASTM A-500 Gr. B2 Structural)
54 Gusset Plate .5" x 4" x 4" (ASTM A-36)

55 Base Plate Plate .75" x 18" x 18" (ASTM A36)

56 Corner Connecting Post Tubing .25" x 4" x 4" x 24" (ASTM A-500 Gr. B2 Structural)
57 Intermediate Connecting Post Tubing .25" x 4" x 8" x 24" (ASTM A-500 Gr. B2 Structural)
63 Ductwork .0625" x 16" (ASTM A-513 Type 1)

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"
Cell "E" | Cell'D
2nd Floor | 2nd Floor

Loft Loit
3rd Floor | 3rd Floor

DRAWING

Schedule-Steel
Footings

st!é): Hartf%rb

PAGE 18

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


OF

Xy
"?_”y: o0, __O )
"5 .,

1 Ceiling Joist Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

2 Floor Joist Size (.25") Method (Position) Type (Continuous Fillet) on end of joist

3 Floor Plate Size (.25") Method (Position) Type (Intermittent Equal Fillet) 1" weld every 9"
4 Top Beam Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
5 Bottom Beam Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
6 Header Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

7 Sill Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

8 Exterior Wall Stud Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

9 Exterior Wall Lateral Brace Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

10 Intermediate Columns Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
11 Corner Columns Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
12 Corner Connectors

13 Cell Connectors

14 Top Girder Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
15 Bottom Girder Size (.25") Method (Position) Type (Continuous Fillet) on end of Beam
16 Intermediate Column Connectors

17 Window Header Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

18 Floor Vent Cut-out

19 Hatch Cover

20 Duct Portal-4" Typical Size (.1875") Method (Position) Type (Continuous Fillet)

21 Electrical Recepticle

22 Electrical Switch

23 Cable

24 Drywall

25 Trim

26 Exterior Panel

27 Wall Fastener

28 Interior Wall Stud Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

63 Ductwork Size (.125") Method (Position) Type (Single Fillet Weld) 1" every 9"

DRAWING

Schedule-Welding
Cell

KEY PLAN

©

Cell"C"

With Deck
Over

Cell 8"

Cell "E"
2nd Floor

Loft
3rd Floor

5 |5 @ A-AAEER

Cell "A"

Loit
3rd Floor

&\

PAGE 19

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


OF

Xy
“?_’,,-n..,.,_?
' ..,

DRAWING

Schedule-Welding

Cell-Upper level

1 Ceiling Joist Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

1-2 Ceiling Joist-Floor Joist Size (.25") Method (Position) Type (Continuous Fillet) on end of joist
2 Floor Joist Size (.25") Method (Position) Type (Continuous Fillet) on end of joist
3 Floor Plate Size (.25) Method (Position) Type ( Intermittent Equal Fillet) 1" every 9"
4 Top Beam Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
5 Bottom Beam Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
6 Header Size (.1875") Method (Position) Type (Equal Double Fillet Weld)

7 sill Size (.1875") Method (Position) Type (Equal Double Fillet Weld)
8 Exterior Wall Stud Size (.1875") Method (Position) Type (Equal Double Fillet Weld)
9 Exterior Wall Lateral Brace Size (.1875") Method (Position) Type (Equal Double-Fillet weld)

10 Intermediate Columns Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
11 Corner Columns Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
12 Corner Connectors
13 Cell Connectors
14 Top Girder Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
15 Bottom Girder Size (.25") Method (Position) Type (Continuous Fillet) on end of beam
16 Intermediate Column Connectors
17 Window Header Size (.1875") Method (Position) Type (Equal Double Fillet Weld)
18 Floor Vent Cut-out
19 Hatch Cover
20 Duct Portal-4" Typical Size(.1875") Method (Position) Type (Continuous Fillet) on end of beam
21 Electrical Recepticle
22 Electrical Switch
23 Cable
24 Drywall
25 Trim

26 Exterior Panel
27 Wall Fastener
28 Interior Wall Stud Size (.1875") Method (Position) Type (Equal Double Fillet Weld)
41 Cell to Roof Fastener
62 Insulation
63 Ductwork Size (.125") Method (Position) Type (Single Fillet Weld) 1" every 9"

KEY PLAN
Cell"C" Cell"B" Cell "A"
| s | 5 | @) LoneAPPRS
Loft Loft ,%
3rd Floor | 3rd Floor PA G E 2 0

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


29 Ridge Beam Size (.25") Method (Position) Type (Continuous Fillet Weld )
30 Purlin Size (.25") Method (Position) Type (Continuous Fillet Weld )
31 Rafters Size (.25") Method (Position) Type (Continuous Fillet Weld )
32 End Gable Framing Size (.125") Method (Position) Type (Continuous Fillet Weld )
33 End Gable Window Header Size (.125") Method (Position) Type (Continuous Fillet Weld )
34 End Gable Windowsill Size (.125") Method (Position) Type (Continuous Fillet Weld )
35 Rafter Connector Plate Size (.25") Method (Position) Type (Continuous Fillet Weld )
36 Dormer Rafters Size (.125") Method (Position) Type (Continuous Fillet Weld )
37 Dormer Window Header Size (.125") Method (Position) Type (Continuous Fillet Weld )
40 Flying Gable End Size (.25") Method (Position) Type (Continuous Fillet Weld )
42 End Gable Fastener Points

43 Knee Wall Size (.125") Method (Position) Type (Continuous Fillet Weld )
44 Upper Roof Section

45 Lower Roof Section

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"

Cell "E" | Cell'D
2nd Floor | 2nd Floor

Loft Loit
3rd Floor | 3rd Floor

DRAWING

Schedule-Welding
Roof

PAGE 21

&!é); Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


49

Corner Connector Pin

50 Intermediate Connector Pin

54 Gusset Size (.1875") Method (Position) Type (Continuous Fillet)

55 Base Plate Size (.1875") Method (Position) Type (Continuous Fillet)

56 Corner Connecting Post Size (.1875") Method (Position) Type (Continuous Fillet)

57 Intermediate Connecting Post Size (.1875") Method (Position) Type (Continuous Fillet)

63 Ductwork Size (.125") Method (Position) Type (Single Fillet Weld) 1" every 9"

DRAWING

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"
Cell "E" | Cell'D
2nd Floor | 2nd Floor

Loft Loit
3rd Floor | 3rd Floor

Schedule-Welding
Footings

st!é): Hartf%rb

PAGE 22

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


&\

«— 36.000 ———» «— 36.000 ——»
14.920 8.000 re—
49 Corner Connector Pin
.500 ﬂ‘« 50 | Intermediate Connector Pin
| 1 I \ ‘ 51 J Bolt-Typical Galvanized
T H H ‘ T ‘ Anchor Bolts
‘ 3.500 52 Concrete Intermediate Pier
18.000 4'003/’:H ”Hl ”}:' 10.000 18.000 53 Concrete Corner Pier
® *ﬁ L 4.000 54 Gusset
}« 55 Base Plate
4.000 56 Corner Connector Post
v I~ ] 57 | Intermediate Connector Post
— 24.000 —» < 18.000 —»
@ .750
12.000 ||
@ .750 o 55
—>
ﬁ @ .750 3.500 —»
T @ .750 7‘E'
4,000 56 4.000 —»>|
24.750 \
51 }
D \H
I I I
/—52 DRAWING
/ 53 \ FIELD NOTES
Minimum Depth
48.000 48.000 .
Concrete (Field Work) Definitions-Parts
Identification
FIELD NOTES Foundation
Minimum KEY PLAN Detail
«——— (#36.000 ——» Diameter «——— (36.000 ——»| ©
Concrete cel'c | celver | cel'ar
(Fleld Work) With Deck | Cell"E" | cell'D %
©> Over | 2nd Floor | 2nd Floor @ Rt Hartdn
Loft Loft
3rd Floor | 3rd Floor

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


24.750

110

14.920 »| ||| j=

8.460 ﬂ B ﬁ

48.000

'

> ©36.000 [«

—Grade

—124.000 |«

ST

48.000

'

—»| ©36.000 [«

48.000

:

# @ 36.000 F

48.000

l

# @ 36.000 \«

FIELD NOTES

Concrete (Field Work)

Minimum Diameter

FIELD NOTES

Minimum Depth
Concrete (Field Work)

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"

Cell "E" | Cell'D"
2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Footing-Foundation
View Drafting-
Elevation

st!é): Hartf%rb

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


FIELD NOTES

Rat wall
Bolt to corner connecting
post

4.000 A
24.750

H y

4 18.000 L T
48.000

F 36.000 4

Grade

—»18.000 <—

24.000

i

A

= 36.000 —»

[

&

127909 ———————————— ¥

——+———————— 128.000 >

Grade

A
24.750
Al 48.000 I
T 72.750
48.000

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"
Cell "E" | Cell'D
2nd Floor | 2nd Floor

Loft Loit
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Footing-Foundation
View Drafting
Rat wall

st!é): Hartf%rb

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


s

FIELD NOTES

Corner Connectors
Grade 5 Bolt & Nut 3/4" x 6"

QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install Corner Connector
Pins

Pin Count - 4

Install Corner Connector
Bolt/Nuts Grade 5 - 3/4" x
6" Torqued to minimum of
20 ft. lbs.

Bolt/Nut Count - 4

Install Intermediate
Connector Pins

Pin Count - 8

Install Intermediate
Connector Bolt/Nuts Grade
5-3/4" x 6" Torqued to
minimum of 20 ft. Ibs.

Bolt/Nut Count - 8

DRAWING

KEY PLAN
Cell"C" | cell"B" | Cell'A"

Loft Loft
3rd Floor | 3rd Floor

Site Assembly
Footing-Foundation
View A & B
Installation-
Connector pins
Finished checklist

Wi Deck | callE® | ca'or ® ﬂ‘%
Over | 2nd Fioor | 2nd Fioor
£(S):  Hartforl

PAGE 26

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Corner Connectors

Grade 5 Bolt & Nut 3/4" x 6"
Torqued to minimum of 20 ft. Ibs.

FIELD NOTES

Place Connector Pin into
Connecting Post

FIELD NOTES

Corner Connectors
t Grade 5 Bolt & Nut 3/4" x 6"
Torqued to minimum of 20 ft.

Ibs.

DRAWING

KEY PLAN

©

Cell"C"

With Deck
Over

Cell 8"

Cell "E"
2nd Floor

Loft
3rd Floor

Cell "A"
Cell 'D"
2nd Floor

Loft
3rd Floor

Site Assembly
Footing-
Foundation
installation-
Connector pins
Detail 1

&!é); Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install Corner Connector
Bolt/Nuts Grade 5 - 3/4" x
6" Torqued to minimum of
20 ft. Ibs.

Bolt/Nut Count - 2

Install Intermediate
Connector Bolt/Nuts Grade
5-3/4" x 6" Torqued to
minimum of 20 ft. Ibs.

Bolt/Nut Count - 2

FIELD NOTES

Set Cell onto Connector Pins
There are 4 Connector Pins
per Cell

&\

-
4 s DRAWING
®
B—/ Site Assembly
i Cell A
) View A & B
Installation-Cell to
s foundation
e Setting cell
KEY PLAN
Cell"C" Cell "B" Cell "A"
With Deck | Cell"E" | Cell'D"
©> Over | 2nd Floor | 2nd Floor @ ey Hartfdn
Loft Loft
3rd Floor | 3rd Floor

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Corner Connectors
Grade 5 Bolt & Nut 3/4" x 6"
Torqued to minimum of 20 ft. Ibs.

FIELD NOTES

Corner Connectors
Grade 5 Bolt & Nut 3/4" x 6"
Torqued to minimum of 20 ft. Ibs.

FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 9 1/2"
Torqued to minimum of 20 ft. Ibs.

&\

DRAWING
Site Assembly
Cell A
ViewB & C
Installation-Cell to
foundation
Setting cell
KEY PLAN
Cell"C" Cell "B" Cell "A"
With Deck | Cell"E" | Cell'D"
©> Over | 2nd Floor | 2nd Floor @ Rt Hartfdr
Loft Loft
3rd Floor | 3rd Floor

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


KEY PLAN
Cell"C" | cell"B" | Cell'A"

With Deck
Over

Cell "E" | Cell'D"
2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Cell A
View C & D
Installation-Cell to
foundation
Setting cell

&!é); Hartf%rb

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


FIELD NOTES

Corner Connectors and Intermediate Connector Pins
Grade 5 Bolt & Nut 3/4" x 6"

Total of 24 bolts, torqued to minimum of 20 ft. Ibs.
When installing Connector Bolt & Nut, check torque
rating on other Connector Pins

DRAWING

Site Assembly
Cell A
View A & B
Installation-Cell to
foundation
Cell mounted

KEY PLAN

= o - AERRo;
| SpAGE 31 ©

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Corner Connectors
Grade 5 Bolt & Nut 3/4" x 6"
Bolts, torqued to minimum of 20 ft. Ibs.

N

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"
Cell "E" | Cell'D"
2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Cell A
View A & B
Installation-Cell to
foundation
Detail 1

&!é); Hartf%rb

PAGE 32

April 11, 2006
PDG Domus 060323-1

&\



Lori Pingel
AC_stamp


Water Tank is mounted and tested
in the factory.

FIELD NOTES

Union
reconnection
For installation of
tank to plumbing

Overflow line

g\

Water Tank

Drip tray

DRAWING

Site Assembly
Cell A
View C & D
Installation-Water
tank

D—"

KEY PLAN

©
\ Cell Connectors cel'c' | celve | colar
) Grade 5 Bolt & Nut 3/4” x 9 1/2"

With Deck | Cell "E" Cell "D"
Bolts, torqued to minimum of 20 ft. Ibs. Cp| o |mir | ik | @) &% Hartf%rb

Loft Loft
3rd Floor | 3rd Floor

FIELD NOTES

/

Drip tray overflow line

&\

<D April 11, 2006
@ PDG Domus 060323-1


Lori Pingel
AC_stamp


cklis

QA Finished Che

= [5}
SE209

Iu +—
eeeeeeeee
OOOOOOOOO

k f

d

ackag

C
Bolt/Nuts Grade

3% | @
g8G |2

PDG Domus 060323-1

April 11, 2006

minimum of 20 ft. Ibs.

t

t
Bolt/Nuts Grade 5 - 3/4" x
6" Torqued to minimum of
nstall Intermediate
5-3/4" x 6" Torqued to

awing p
Ic
Bolt/Nut Count - 2
Bolt/Nut Count

20 ft. Ibs.
|
Connector

0
.....
B c

D
d
|

Site Assembly
Cell A
View A & B
| | Cell
found
Cell mounte
E W
Finished checklist
Cell"c* | cell"B Cell "A"
With Deck | Cell "E' Cell "D"
Over | 2nd Floor | 2nd Floor @ Eﬂg):- AE%Hartf ; L
Loft Loft
Floor | 3rd Floor

-

asier viewing of component

Shown without ceiling visible for


Lori Pingel
AC_stamp


0

FIELD NOTES

Uniroyal Silaprene

Adhesive/Sealant applied
to surfaces which contact
Cell A

QA Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 12

Water Tank reconnection

Plumbing test

Electrical reconnection

Electrical test

Edges between cell are
filled with Weld-On Sealant

Plaster work: Embed
elastomeric plaster and
tape

Adhesive/Sealant applied to
exterior edges between Cell

DRAWING

Site Assembly
Cell B
View A & B
Installation-Cell to
foundation
Setting cell

KEY PLAN

©

ell'C" | cell"B"

ok | Cell "E"

el E
er | 2nd Floor

Loft
3rd Floor

Cell "A"

Cell 'D"
2nd Floor

&!é); Hartf%rb

®

Loft
3rd Floor

PAGE 35

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


7,

©

DRAWING

Site Assembly

CellB
View A & D
Installation-Cell to
foundation
Setting cell

eS):  Hartfdr

PAGE 36

KEY PLAN

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o



Lori Pingel
AC_stamp

Lori Pingel
AC_stamp


®

DRAWING

Site assembly

CellB
View A & D
Installation-Cell to

foundation

Cell mounted

eS):  Hartfdr

PAGE 37

Open back staircase:

Riser opening is 3 7/8” after
floor covering is applied.

KEY PLAN

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp

Nathan Pingel
staircase


Open back staircase:
Riser opening is 3 7/8” after
floor covering is applied.

DRAWING

Site Assembly
CellB
View A & B
Installation-Cell to
foundation
Cell mounted

KEY PLAN

o oW NeRRoy,
| SpAGE 38 ©

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp

Nathan Pingel
staircase


7,

©

DRAWING

Site Assembly
CellB
View B & C
Installation-Cell to

foundation
Cell mounted

eS):  Hartfdr

PAGE 39

s

AN 7
—w—mwwy S

=5
\ X7

X Vs \\\»| N
NS/ A\
PN\ —\ <5
N

N

A
\A¥

i

A

KEY PLAN

®

Cell "A"

2nd Floor

2nd Floor

cell'c” | cell"B"

With Deck | Cell"E" | Cell'D"
Over

©

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 9 1/2"

\
\ L
Bolts, torqued to minimum of 20 ft. Ibs. DRAWING
Site Assembly
CellB
ViewB & C
. Installation-Bolts
\, Detail 5
KEY PLAN
©
Cell"C" Cell "B" Cell "A"
With Deck | Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ 4&%‘%
i | %hen %
PAGE 40
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


-

®

Installation-Bolts
Detail 6

Hartfar!

PAGE 41

):

I

®

Cell "A"

Cell 'D"

Loft

Cell 8"

>
5 0
S
g gm3
= 432
g <O 3
ol 9o Q2
=2 S
(7]
@
2
&
=, O
59
o
*E
(%2}
A
<
2| &=
a 5€
D 022
L O&d
o=z 0
® 9 >
co g
O%m
O34
= c =
L = O
[SYOX™)

2nd Floor | 2nd Floor

Loft
3rd Floor | 3rd Floor

KEY PLAN

Cell"C"

With Deck | Cell "E"
Over

©

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


FIELD NOTES

Cell Connectors

Grade 5 Bolt & Nut 3/4" x 9 1/2"

Bolts, torqued to minimum of 20 ft. Ibs.

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"

Cell'E" | Cell'D"
2nd Floor | 2nd Floor @

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Cell B
ViewB & C
Installation-Bolts
Detail 7

&!é); Hartf%rb

PAGE 42

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


~—-

FIELD NOTES

Cell Connectors

1 Grade 5 Bolt & Nut 3/4" x 9 1/2"

Bolts, torqued to minimum of 20 ft. Ibs.

KEY PLAN

©

Cell"C" Cell"B" Cell "A"
O | | 22 | @) iR ek
Loft Loft
3rd Floor | 3rd Floor %
PAGE 43

DRAWING

Site Assembly
Cell B
ViewB & C
Installation-Bolts
Detail 8

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

DRAWING

Cell Connectors

Grade 5 Bolt & Nut 3/4" x 9 1/2"

Site Assembly

CellB
Bolts, torqued to minimum of 20 ft. Ibs. ViewB & C
Installation-Bolts
Detail 9
KEY PLAN
Cell"C" Cell"B" Cell "A"

With Deck
Over

Cell "E" | Cell'D"
2nd Floor | 2nd Floor @ e Hartfdn L

Loft Loft
3rd Floor | 3rd Floor

PAGE 44

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 9 1/2"

Bolts, torqued to minimum of 20 ft. Ibs.

DRAWING

Site Assembly

Cell B
ViewB & C
Installation-Bolts
Detail 10
KEY PLAN
Cell"C" Cell "B" Cell "A"
ol | s | 1 | @ ﬂ':%rm,
N %
PAGE 45

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

=
Cell Connectors DRAWING
Grade 5 Bolt & Nut 3/4" x 9 1/2" -
Bolts, torqued to minimum of 20 ft. Ibs. Site Assembly
Cell B
/7 View B & C
Installation-Bolts
Detail 11
KEY PLAN
-~ ©
Cell"C" Cell "B" Cell "A"
(>
> With Deck | Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ %“m
oo | 3P %
PAGE 46
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


\////

\ZA

A g

®

DRAWING
Site Assembly
CellB
ViewB & C
Installation-Bolts

Detail 12

Hartfar!

)
PAGE 47

L(S):

FIELD NOTES

Grade 5 Bolt & Nut 3/4" x 9 1/2"
Bolts, torqued to minimum of 20 ft. Ibs.

Cell Connectors

KEY PLAN

®

Cell "A"

Cell 'D"

Cell 8"

r | 2nd Floor
L
d

2nd Fl
Loft
d Fl

Cell"C"

Over

With Deck | Cell "E"
nd Floor

©

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


—

e

Standard UL approved
metal stud bushings

7 FIELD NOTES

Electrical Reconnection Point

COC-1 crossover 3/C connector.
Ref: Electrical Application Manual

Reconnection: Use of Molex UL approved

DRAWING

Site Assembly
CellB
ViewB & C
Electrical
re-assembly
Detail 14

KEY PLAN

©

Cell"C"

With Deck
©> Over

Cell"g” | Cell"A"

Cell "E"
2nd Floor

Loft Loft
3rd Floor | 3rd Floor

znaroor |@) ﬂrm%t e arttdr

PAGE 48

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


&

\WavaLl g 953y
Y = o
g
iR 2o s 5@
©

.

FIELD NOTES
Reconnection: Use of Molex UL approved

COC-1 crossover 3/C connector.
Ref: Electrical Application Manual

Electrical Reconnection Point

Standard UL approved
metal stud bushings

\\
HNS
=y

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


P E— T

————
-

~\___/

Water Meter in house
Shut off valve for Meter

FIELD NOTES

Hot and Cold water line reconnection
1 in Cell C, using unions. Pressure
tested after reconnection.

DRAWING

Site Assembly
CellB
ViewB & C
Installation-Cell to
foundation
Detail 1

KEY PLAN

©

Cell"C" | cell"g" | Cell'a

With Deck | Ce Cell D!
Over

Loft Loit
3rd Floor | 3rd Floor

ell £
2nd Floor | 2nd Floor @ e Hartfdn

PAGE 50

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


/A

®

DRAWING

Site Assembly

Cell B
View A & D
Installation-Water

tank
Detail 13

eS):  Hartfdr

PAGE 51

FIELD NOTES

leaving only the union reconnection and

Water Tank is installed in factory,
pressure test.

KEY PLAN

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


P EE— T

e

-

|
12
n‘ ‘““5»
=1 B>
S T

FIELD NOTES

Access Hatch: For installation of Cell
Connectors

Grade 5 Nut & Bolt 3/4" x 9 1/2"
Torqued to minimum of 20 ft. Ibs.

-

DRAWING

Site Assembly
CellB
ViewB & C
Installation-Cell to
foundation

Detail 2

KEY PLAN

©

Cell"C" | cell"B" | Cell'A"

Znarioor | 2na oo | B e®):  Hartfdr

Loft Loft
3rd Floor | 3rd Floor

With Deck
Over

PAGE 52

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


~~

-

FIELD NOTES

Access Hatch: For installation of
Cell Connectors
Grade 5 Nut & Bolt 3/4" x 9 1/2"

Bolts, torqued to minimum of 20 ft. Ibs.

DRAWING

Site Assembly

CellB
ViewB & C
Installation-Cell to
foundation
Detail 3
KEY PLAN
Cell"C" Cell "B" Cell "A"
th Dec) el "E" el D"
©> W‘g\?erk 2%6 FIEO! 2(r:\d“F\Enr @ Rt Hartfdr

Loft Loft
3rd Floor | 3rd Floor

PAGE 53

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


~

~

E=/A\%- /

AN 4

i

FIELD NOTES

Install 4 Intermediate Column
Connector Fasteners DRAWING
Grade 5 Bolt & Nut 3/4" x 6"
Bolts, torqued to minimum of 20 ft. Cell B

Ibs. View B & C

/ Installation-Cell to

foundation
Detail 4

Site Assembly

KEY PLAN

Cell"C"

Va cell'g” | cell'A"

-’
Cy| "o | ik | i | B o8 Harttdr

Loft Loft
3rd Floor | 3rd Floor

PAGE 54

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


7,

©

DRAWING

Site Assembly

CellB
ViewB & C
Installation-Cell to

cell
Cell mounted

Hartfar!

PAGE 55

):

I

FIELD NOTES

Edges between Cell are filled with

Weld-On sealant and spread level

KEY PLAN

®

Cell "A"

Cell 'D"
2nd Floor

Cell 8"

2nd Floor

Cell"C"

With Deck | Cell "E"
Over

©

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 12

Water Tank reconnection

Plumbing test

Electrical reconnection

Electrical test

Edges between cell are
filled with Weld-On Sealant

Plaster work: Embed
elastomeric plaster and
tape

Adhesive/Sealant applied to
exterior edges between Cell

DDDDDDD

Site Assembly
Cell B
View A & B
Installation-Cell to
foundation
Cell mounted

KKKKKKK

Exterior view

Finished checklist

lllllllll

Cell
o | e, | 22 | @) ﬂ’:%rm
| it
PAGE 56 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Install Intermediate
Connector Pins

&R

FIELD NOTES

Second Floor

Connector Pins

Corner and Intermediate Connectors
Grade 5 Bolt & Nut 3/4" x 6"

Bolts, torqued to minimum of 20 ft. Ibs.

QA Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install 2nd Floor Corner
Connector Pins

Pin Count - 2

Install Corner Connector
Bolt/Nuts Grade 5 - 3/4" x
6" Torqued to minimum of
20 ft. Ibs.

Bolt/Nut Count - 2

Install Intermediate
Connector Pins

Pin Count - 6

Install Intermediate
Connector Bolt/Nuts Grade
5-3/4" x 6" Torqued to
minimum of 20 ft. Ibs.

Bolt/Nut Count - 6

DRAWING

Site Assembly
CellA&B
ViewB & C
Installation-
Connector pins to
Install cell D

KEY PLAN

Setting pins

©

Cell"C"

With Deck
Over

Cell"

Loft
3rd Floor | 3

Cell"g” | Cell"A"

-
2nd Floor | 2nd Floor @ e®): Hartfdn

Cell 'D"

Loft
rd Floor

PAGE 57

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Intermediate Corner Pins

installed and bolted

FIELD NOTES

Corner Connector Pins
installed and bolted

AN

QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install 2nd Floor Corner
Connector Pins

Pin Count - 2

Install Corner Connector
Bolt/Nuts Grade 5 - 3/4" x
6" Torqued to minimum of
20 ft. Ibs.

Bolt/Nut Count - 2

Install Intermediate
Connector Pins

Pin Count - 6

Install Intermediate
Connector Bolt/Nuts Grade
5-3/4" x 6" Torqued to
minimum of 20 ft. Ibs.

Bolt/Nut Count - 6

DRAWING

Site Assembly
CellA&B
ViewB & C
Installation-

Connector pins
Install cell D

KEY PLAN Pins mounted

©

Finished checklist

Cell"C"

With Deck
Over

Cell 8"

Cell "E*

E
2nd Floor

Loft
3rd Floor

Cell "A"

S | @® A-AAEER

“ IPAGE 58

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Uniroyal Silaprene
Adhesive/Sealant

applied to surfaces
which contact Cell

QA Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 4

Adhesive/Sealant applied to
exterior edges between Cell

DRAWING

Site Assembly

CellD
View A & D
Installation-Cell to
cell
Setting cell
KEY PLAN
Cell"C" Cell "B" Cell "A"
Wi Deck | callE® | ca'or 4&‘%
e | aniFioor | 2w Foor B Hartidr
Loft Loft
3rd Floor | 3rd Floor
April 11, 2006

PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


®

CellD
ViewB & C

Installation-Cell to
cell
Setting cell
eS):  Hartfdr

PAGE 60

DRAWING
Site Assembly

KEY PLAN
ell "B | Cell'A"
d
L

FIELD NOTES
Uniroyal Silaprene Adhesive/Sealant

applied to surfaces which contact

Cell

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


®

°)
2 o3 3 T3 i
o mD&C € = © Q
z Q C =3 T [a2)
3| =052 L o
< [ = O E B ©
gl <038 i O 9o
L S8 © o oW
& % O A Q2
c N £

= o <8

=

=0

50

<0

KEY PLAN



Lori Pingel
AC_stamp


7,

©

DRAWING
CellD
View A & D
Installation-Bolts

Site Assembly

\—2\__ZZ

Detail 1

Hartfar!

PAGE 62

):

I

®

Cell "A"

Cell 'D"
2nd Floor

KEY PLAN
©

Cell 8"

2nd Floor

Cell"C"

With Deck | Cell "E"
Over

©

FIELD NOTES

.,%/H/// \\\\»/ i \\\\

B—a

FIELD NOTES

Bolts torqued to minimum of 20 ft. Ibs.

Grade 5 Bolt & Nut 3/4" x 9 1/2"

Cell Connectors

Cell Connectors
t Grade 5 Bolt & Nut 3/4" x 1 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


—— — L

/‘A\ \l/’\'//

FIELD NOTES

Cell Connectors

t Grade 5 Bolt & Nut 3/4" x 1 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

DRAWING

KEY PLAN

©

Loft

Cell"C" | cell"B" | Cell'A"

With Deck | Cell"E" | Cell'D"
Over | 2nd Floor | 2nd Flo

Loft
3rd Floor | 3rd Floor

Site Assembly
CellD
View A & D
Installation-Bolts
Detail 2

> | ® st!é): Hartf%rb %

PAGE 63

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


®

DRAWING

Site Assembly

CellD
View A & D
Installation-Bolts

Detail 3

eS):  Hartfdr

PAGE 64

/| i

™

<

FIELD NOTES

Cell Connectors
r Grade 5 Bolt & Nut 3/4" x 1 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

4

KEY PLAN

®

Cell "A"

2nd Floor
L
d

2nd Floor
L
d

cell'c” | cell"B"

With Deck | Cell"E" | Cell'D"
Over

©

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


®

CellD
View A & D

Installation-Bolts
£(S): Hartfor

DRAWING
Site Assembly
Detail 4
PAGE 65

KEY PLAN

FIELD NOTES

/4 VAVAV /AVAV//

Bolts torqued to minimum of 20 ft. Ibs.

Cell Connectors
t Grade 5 Bolt & Nut 3/4" x 1 1/2"

—

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


®

DRAWING

Site Assembly

Cell D
View A & D
Installation-Bolts

Detail 5

) Hartfdrl
PAGE 66

I

FIELD NOTES

Cell Connectors
r Grade 5 Bolt & Nut 3/4" x 13 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

KEY PLAN

®

Cell "A"

Cell "D

2nd Floor
L
d

Cell 8"

2nd Floor
L
d

Cell"C"

With Deck | Cell "E"
Over

©

S~

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


&

DRAWING

Site Assembly

CellD
View A & D
Installation-Bolts

Detail 5-1

PAGE 67

FIELD NOTES

Cell Connectors

Grade 5 Bolt & Nut 3/4" x 13 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

4

KEY PLAN

®

Cell "A"

Cell 'D"
Loft

Cell 8"

2nd Floor | 2nd Floor
3rd Floor | 3rd Floor

Loft

Cell"C"

With Deck | Cell "E"
Over

©

b
/.\/
B \V4

/// .
AR\

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


®

CellD
View A & D
Installation-Bolts

DRAWING
Detail 6

Site Assembly

eS):  Hartfdr

PAGE 68

KEY PLAN

FIELD NOTES

AVAY

1 Grade 5 Bolt & Nut 3/4" x 13 1/2"
Bolts torqued to minimum of 20 ft. Ibs.

Cell Connectors

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


A
\

A VAVAV,

Cell D
View A & D
Installation-Bolts

DRAWING
Site Assembly
Detail 6-1

PAGE 69

4

®

PDG Domus 060323-1

April 11, 2006

Cell "A"
Cell 'D"
Loft

Loft
3rd Floor | 3rd Floor

2nd Floor | 2nd Floor

KEY PLAN

Cell 8"

T 77 9

/-y

Cell"C"
Over

With Deck | Cell "E"

\
N/ sy

©

FIELD NOTES

Avav/

1]

Bolts torqued to minimum of 20 ft. Ibs.

Cell Connectors
t Grade 5 Bolt & Nut 3/4" x 13 1/2"

e

e e (o)

/\

=
VAN



Lori Pingel
AC_stamp


®

DRAWING

Site Assembly

CellD
View A & D
Installation-Bolts

Detail 7

) Hartfdrl
PAGE 70

I

A

D

A/ ,".

W/

,.\W -
%\QN /

/A

\

/
= cw//xw/
\4>//4>4\>/4>@'M

FIELD NOTES

Cell Connectors

Grade 5 Bolt & Nut 3/4" x 13 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

KEY PLAN

®

Cell "A"

Cell 'D"
2nd Floor
3rd

2nd Floor
L
d

cell'c” | cell"B"

With Deck | Cell "E"
Over

©

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


&

- 2
3 0@
ol Ea® e
S| =<8 =
I oK S
13} & <O W” 5]
P —— g2 &0
.q,,,v 2 ) m
N2\ 7
W14 —=) = 85 .8
. / ) - s 8 3
<< _ =
g s i L8
>©)3 5 %
% T 3
* 1
g £°

©

FIELD NOTES

v/ &/

N\ N = /),
o

/

<

Bolts torqued to minimum of 20 ft. Ibs.

Cell Connectors
t Grade 5 Bolt & Nut 3/4" x 13 1/2"

.

SN/
\@\

4 —
N
|
=
NRVANYER
AN
v
_X/// N4
\ A\ WA /N g
v\ N\,

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


—

,_l\l./

S\ ZAN

®

DRAWING

Site Assembly

CellD
View A & D
Installation-Bolts

Detail 8

eS):  Hartfdr

PAGE 72

FIELD NOTES

Cell Connectors

Grade 5 Bolt & Nut 3/4" x 13 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

4

®

Cell "A"
2nd Floor
L
d

KEY PLAN
©

2nd Floor
L
d

Over

With Deck | Cell"E" | Cell'D"

cell'c” | cell"B"

©

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


/ﬂi\\\//

\/ D/<./
\P/ Z\\F//f/

!i\\\

x@//‘\\ x?i\\\

&

DRAWING
Site Assembly
CellD
View A & D
Installation-Bolts

Detail 8-1

FIELD NOTES
Bolts torqued to minimum of 20 ft. Ibs.

Cell Connectors
1 Grade 5 Bolt & Nut 3/4" x 13 1/2"

4

KEY PLAN

®

PAGE 73

Cell "A"

Cell 'D"

Loft

Cell 8"

2nd Floor | 2nd Floor

Loft
3rd Floor | 3rd Floor

Cell"C"

With Deck | Cell "E"
Over

©

\ &//

Y%
\

NN AL

\x//%

///
///

X\&A/\/
. //x/)

&///X\\\/
i \ /\ W%//

N B\
// // /////\ /MA

/JV /// /////\\\\ /vx VA

) N
/%M// AN WA ¢
DAY 7% N . NN %
1/9// ANV AN \ YRR AR ///
ANV/ED /A N NE— N— B
A \ N \ \
/ﬁkx N N N N A /»V\\
~L_ W\ o

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


=
5

7,

©

CellD

Hartfar!

):

/A JAN

eTel\\a—a—2A

———

R

DRAWING
Detail 9

Installation-Bolts
¢

Site Assembly
View A & D

PAGE 74

®

April 11, 2006
PDG Domus 060323-1

Cell "A"
Cell 'D"

KEY PLAN

Cell 8"
2nd Floor

3

%/

FIELD NOTES

Intermediate Cell Connectors
Grade 5 Bolt & Nut 3/4" x 6"

Over

Cell"C"
With Deck | Cell "E"

©

Bolts torqued to minimum of 20 ft. Ibs.

~—



Lori Pingel
AC_stamp


®

DRAWING

Site Assembly
CellD
View A& D
Installation-Bolts
Detail 10

eS):  Hartfdr

PAGE 75

»%4’//4\ ./
’//d/,/ VAN
LT ] @Hv

,/KWQ\\\ Y

\ VAV /& N

A/ e/ cw/AR F
\ \VAVAV /AVAN /; [ )

om

Corner Cell Connectors

Grade 5 Bolt & Nut 3/4" x 6"

Bolts torqued to minimum of 20 ft. Ibs.

-

KEY PLAN

-

AN /

| “
_,

———

/

-

U

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


D\

c—"

FIELD NOTES

Corner Cell Connectors
Grade 5 Bolt & Nut 3/4" x 6"
Bolts torqued to minimum of 20 ft. Ibs.

/—A

DRAWING

Site Assembly
CellD
ViewB & C
Installation-Bolts
Detail 11

KEY PLAN
Cell"C" | cell"B" | Cell'A"

With Deck
Over

Cell "E" | Cell'D
2nd Floor | 2nd Floor

Loft Loit
3rd Floor | 3rd Floor

® st!é): Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


©

7,

eS):  Hartfdr

PAGE 77

/s wa :

S A @

=7 7 e 4\\ ’//@Nul

g

FIELD NOTES

Bolts torqued to minimum of 20 ft. Ibs.

Intermediate Cell Connectors
Grade 5 Bolt & Nut 3/4" x 6"

4

PDG Domus 060323-1

April 11, 2006

cell'g” | cellA"
] cell'D"
loor | 2nd Floor @
Loft
i

KEY PLAN

/-—



Lori Pingel
AC_stamp


FIELD NOTES
Uniroyal Silaprene
Adhesive/Sealant
applied to edge

7

,///////////////////////// ‘\

=————— 3% /

///////

AT

:%//

TR

®

DRAWING

Site Assembly

CellD

View A & B
Installation-Cell to

cell
Cell mounted
Exterior view

eS):  Hartfdr

PAGE 78

KEY PLAN

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 4

Adhesive/Sealant applied to
exterior edges between Cell

DRAWING

Site Assembly

CellD
View A & D
Installation-Cell to
cell
Cell mounted
KEY@PLAN Finished checklist
Cell"C" Cell "B" Cell "A"
Wity Deck | calE® | cel D 4&‘%
™ | 2naFioor | 2w Fieor B Hartidr
Loft Loft
3rd Floor | 3rd Floor
April 11, 2006

PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


®

c o 2=l o e
e | o = 58|89 > = _ 5| © -
-8 D 2 n = p} :
|,nnv m. 3 c c 2ow ° =5 02 Q mE&P_V 8 = 0o Q
<5 o T 2 kel S=EP|o & o0| €8 Zle=-s5=2 T w ®
=00 5] 7/l N | 3T 3 =0 | Q. T2 (DD 2l 03T 88E 2
B 856ele || 9|2 @ 8c5|28 |28 |l ¢ gl<8z®°E 5O 8
Z|0Eg5 O 8 ‘w | = | € IS coxl 5B sL| 85 Sla 23 & 1 E o
< Sknm © 2 = Q = o - goo|Ws R %ww = V..& A [e3=]
1oL cS| 0 S S o | @ o ® oL o 3@ 2 %) 4! RE
2 5Zcg | z @ IO o Q MmW =0 0wy NLUuW £ o ~§
o|l£s§e o ° o | o |z T |o8c| 2o o O & 2, - Qa
00E o > c ] c = < o -= > -0 =
<S8 |G, S| 2 58|58 |2 |2 |0w8% 55 |88|ot @ =0
Ol2o0&'s em 8| S| €€ |38 5|00 | 520 25|28 [¥al
2LT 8| 55 ©| o5 | 3|3 |2 |2 |8238 882|5R|EQ <o
Qo>c|<&s|m | | |od |Ww U <2 ado8|<d|Dan S 5 o3 °
<
oy P
S|© @
% 3
X
o
8

=z

\
\\x

—

\/\F\

R//I/

FIELD NOTES
Adhesive/Sealant on contact

Apply Uniroyal Silaprene
surfaces



Lori Pingel
AC_stamp


®

DRAWING
Site Assembly
CellE
ViewB & C
Installation-Cell to
cell
Setting cell

eS):  Hartfdr

PAGE 81

FIELD NOTES

KEY PLAN
©

Edges and Access hatches filled,
leveled with Weld-On Sealant

Iqﬂ.

TAVA YAV

/

R

v/

= /

Y 7

W Py
4
Y Y] &

5 \Vaver7/74A NI\

A
/=

W

5
77

Ay A"
Y rﬁ S

FIELD NOTES

Apply Uniroyal Silaprene

Adhesive/Sealant on contact surfaces

FIELD NOTES

FIELD NOTES

Apply McGill AirSeal Corporation's
United Duct Sealer "Uni-Seal" UL

Classified as Class 1 with flame spread |

rate of 15 to duct edge

DO NOT bond hatch covers on Cell |
B until Cell C is completely installed

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o



Lori Pingel
AC_stamp


LEIN

\ V2

7=\

DRAWING

Site Assembly
CellE
View A & D
Installation-Cell to
cell
Cell mounted

KEY PLAN
Cell"C" | cell"B" | Cell'A"

With Deck | Cell"E" | Cell'D"
Over | 2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

® &!é); Hartf%rb

PAGE 82

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


DRAWING
Site Assembly
CellE
ViewB & C
Installation-Cell to
cell
Cell mounted
KEY PLAN
Cell"C" Cell "B" Cell "A"
With Deck | Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ ) Rt Hartfdr
Loft Loft
3rd Floor | 3rd Floor
PAGE 83

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


/i ZAIN
)

)

S

\V/ &/ 4

®

FIELD NOTES

Cell Connectors

Bolts torqued to minimum of 20 ft. Ibs.

Grade 5 Bolt & Nut 3/4" x 9 1/2"

PAGE 84

- 2}
= e
hlmu ol S
=
s $HA.Ma
< <4 T o
04 ACW”e S
[a) o QLT 0O
= S5 o
n c
Za
= g L
z| |5 & °
<
3
o
>
w
X

—~ -

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
et
=0
50
<o


Lori Pingel
AC_stamp


&
B
S

CellE
View A & D
Installation-Bolts
Detail 2
eS):  Hartfdr
PAGE 85

DRAWING
Site Assembly

V'\Ne— =\

I'E” | Cell D"

loor | 2nd Floor @
Loft 3
i

KEY PLAN
Cell"C" | cell"B" | Cell'A"

v/ AN

,,,||u;|\ A

FIELD NOTES

Grade 5 Bolt & Nut 3/4" x 9 1/2"
Bolts torqued to minimum of 20 ft. Ibs.

Cell Connectors

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


&
B
S

2]

W A= —
g og 2 ®

9| B c® 3
= 83 <28 o

T O ..
— SR 5l 30853 | O
\ » -z <
_ N /AN N /AN - DI

\ A\

KEY PLAN

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


e

a/—-

9

g&@%@'

- ~

~

~,

\

N

i A

®

DRAWING

View A & D
Installation-Bolts
Detail 4

Site Assembly
CellE

eS):  Hartfdr

PAGE 87

FIELD NOTES

| Grade 5 Bolt & Nut 3/4" x 9 1/2"
Bolts torqued to minimum of 20 ft. Ibs.

Cell Connectors

KEY PLAN

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


/
I
('
\
1
\
\

FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 9 1/2"

/ Bolts torqued to minimum of 20 ft. Ibs.

FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 1 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

FIELD NOTES

t Nuts, check torque rating on other

When installing Connector Bolts &

Connectors

DRAWING
Site Assembly
CellE
View A & D
Installation-Bolts
Detail 5
KEY PLAN
Cell"C" Cell "B" Cell "A"
With Deck | Cell "E" Cell "D
©> Over | 2nd Floor | 2nd Floor @ .m
Loft Loft
3rd Floor | 3rd Floor
PAGE 88
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


®

/A /A W/

/ //y/\!: 00

e\

©

7,

DRAWING
Site Assembly
CellE
View A & D
Installation-Bolts
Detail 6
eS):  Hartfdr

PDG Domus 060323-1

April 11, 2006

cell'g” | cellA"
I'E" | Cell'D
loor | 2nd Floor @
Loft 3
i

KEY PLAN

.\\ﬁ =

>///I// ’\4

FIELD NOTES

Cell Connectors

Bolts torqued to minimum of 20 ft. Ibs.

Grade 5 Bolt & Nut 3/4" x 9 1/2"



Lori Pingel
AC_stamp


/L\’//Q/,

©

_ |\'\

,/

\
7]
> = s O
2 og £ &
o 1S T~ <
z oW c - £
£ 2323 Ll
x| < 280 2
a eC.nlumD D G
= Sy
Z,
EY H
> 3 8
< —
T b w8 nmg
2 LZ 5T ¢
% 8 3% &
X x
b &
8 mo
] %)
8 Rt
. =
= . & pg
£ N o
N 9 50
— —
u— m c
o © — O ~ O
%) n|l S
@ xg | |8 X5 ||@ 8g
= T2 B XE El oS
) S E Qo ® = O| c®
Z ™= z o £ 2 mmw
5= fa) Ja)
ol S | |9] ZE| |2/ 38%
ol v | o< o o <2
= < ] = Sy e = o =
Ll gxk= L o Ll 9
= =T 527 £2
08 o 852
co 3z cl s RN
[<pP = n s ccB
c¥ o Q2 =G
oo* oe c 2
-9 =32 L8 c
2585 o 25 £56
OO0m OO0m =z0
I/
N,

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


_7"_— T —

)

/

V/AVAN

AV

.

FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 9 1/2"
Bolts torqued to minimum of 20 ft. Ibs.

FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 1 1/2"
Bolts torqued to minimum of 20 ft. Ibs.

DRAWING

Site Assembly
CellE
View A & D
Installation-Bolts
Detail 8

cell"a"
cell D"
or | 2naioor | (A) c& Hartidn
Loit %
3rd Floor

FIELD NOTES KEYPLAN
When installing Connector Bolts & ©
1 Nuts, check torque rating on other celc | cener
Connectors © wi oeck | cole
Loft
3rd Floor

PAGE 91

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp

Lori Pingel
AC_stamp


o\
AN,

)

-
/\

W
O

VA

=K/

A

=
7

%
-

7 2\

AN

-

/

FIELD NOTES
/ Cell Connectors
\ 4" / Grade 5 Bolt & Nut 3/4" x 1 1/2"
. \ d Bolts torqued to minimum of 20 ft. Ibs.
. {'w'
\ O
FIELD NOTES

DRAWING
7/ Cell Connectors .
4 | Grade 5 Bolt & Nut 3/4" x 9 1/2" Site CASITeEmb'y
Bolts torqued to minimum of 20 ft. Ibs. e
~ ViewB & C
Installation-Bolts
- FIELD NOTES Detail 9
== / When installing Connector Bolts &
== Nuts, check torque rating on other
Connectors cel'c | cenver | cenar
wpgse | cove | cove ﬁgrAF—’%
© | ® < £S):  Hartfdr .
3rd Floor | 3rd Floor
5 PAGE 92

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 1 1/2"
Bolts torqued to minimum of 20 ft. Ibs.

FIELD NOTES

When installing Connector Bolts &
Nuts, check torque rating on other
Connectors

’/ﬁ\

\

%

AN

\!

'07[&“

'

X
&
/

DRAWING

Site Assembly
CellE
ViewB & C
Installation-Bolts
Detail 10

KEY PLAN

&!é); Hartf%rb

PAGE 93

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


®

FIELD NOTES

%)
£
z 0% 3
o IS Bl | O
> e_._u_&nl ©
S| o=m8 = T w
< 2o F8
P ACWn|ae Py G
a ) 2TO
= >0 o
=z 8 s
< R
2 -
> 3 3 Lmé
& 8 8 3
X
L
=6
. ©
0
E=]
e
K=
ad
— O
x £
=, S
SE
CE
S E
=g
g% =
5=73
209
clz
S0 =
o )
oL
="}
= © =
L = O
0O0m
N\,
N,
\
\
/
d

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


/—A

VavAVAVAURD
/\\D//a..//\\b/é

7,

DRAWING
Site Assembly
CellE
ViewB & C
Installation-Bolts

Detail 12

) Hartfdrl
PAGE 95

I

KEY PLAN

®

Cell "A"

Cell 'D"
2nd Floor

2nd Floor

cell'c” | cell"B"

With Deck | Cell "E"
Over

©

.\\\%
x.\|:i<

©

PDG Domus 060323-1

April 11, 2006

- .;-rt\\

=

FIELD NOTES
FIELD NOTES

Bolts torqued to minimum of 20 ft. Ibs.
When installing Connector Bolts &
1 Nuts, check torque rating on other

Grade 5 Bolt & Nut 3/4" x 1 1/2"
Connectors

Cell Connectors

-



Lori Pingel
AC_stamp


7,

©

A»<>/<><>I'

\

DRAWING
Site Assembly

CellE
ViewB & C
Installation-Bolts

Detail 13

eS):  Hartfdr

PAGE 96

,« \/ /I\} \

b

eIa /-

FIELD NOTES

Intermediate Cell Connectors
Grade 5 Bolt & Nut 3/4" x 6"

Bolts torqued to minimum of 20 ft. Ibs.

4

KEY PLAN

®

Cell "A"

2nd Floor

2nd Floor

cell'c” | cell"B"

With Deck | Cell"E" | Cell'D"

Over

©

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


Oﬁm,"“ =\ /2
YN ‘\\v///% ‘\Ny/
\ /\ ‘\\\"\/// /&b/

\

I = —

/AR

o=, /
— D'Vu'\\

Y/

o
o

......
.

®

DRAWING

Site Assembly

CellE
ViewB & C
Installation-Bolts
Detail 14

eS):  Hartfdr

PAGE 97

FIELD NOTES

Grade 5 Bolt & Nut 3/4" x 13 1/2"

Cell Connectors

Bolts torqued to minimum of 20 ft. Ibs.

4

KEY PLAN

®

Cell "A"

2nd Floor
L
d

2nd Floor
L
d

cell'c” | cell"B"

With Deck | Cell"E" | Cell'D"
Over

©

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


VAVA\VAVAURD, )

&

DRAWING

Site Assembly
CellE
ViewB & C
Installation-Bolts

Detail 14-1

FIELD NOTES

Cell Connectors

Grade 5 Bolt & Nut 3/4" x 13 1/2"

Bolts torqued to minimum of 20 ft. Ibs.

KEY PLAN

®

Cell "A"

Cell 'D"

Loft

Cell 8"

2nd Floor | 2nd Floor

Cell "E"

Loft
3rd Floor | 3rd Floor

Cell"C"

With Deck
Over

©

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


/—A

—\

A =
i /- \\//ATETN

—

V) »IO' ©

®

FIELD NOTES
Grade 5 Bolt & Nut 3/4" x 6"

Intermediate Cell Connectors
Bolts torqued to minimum of 20 ft. Ibs.

/

/

cell'c” | cell"B"

Over

%)
> 2 5| o
= e}

o Enaln £ O

P4 o W c

S| o=m8= T wl

< Vo SES

o ACWn|ae s G

& D3
o =80 <
=2 >% A
2 s o

Z
= g 8
> 3 8
2 M—
3 W 3
> % %@
& 38 78
X x
H
H

©

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


/
J \ .

®

DRAWING

Site Assembly

CellE
View A & B
Installation-Bolts
Detail 16

eS):  Hartfdr

PAGE 100

o )
/A\
/AN AN

=

FIELD NOTES

/

Grade 5 Bolt & Nut 3/4" x 1 1/2"

Cell Connectors

Bolts torqued to minimum of 20 ft. Ibs.

KEY PLAN

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
et
=0
50
<o


Lori Pingel
AC_stamp


AN

! FIELDVNOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 1 1/2"

Bolts torqued to minimum of 20 ft. Ibs. DRAWING
Site Assembly
CellE
View A & D
Installation-Bolts
Detail 17
KEY PLAN
Cell"C" Cell "B" Cell "A"

Cy| "o | ik | i | @) o8 Harttdr
: Y,

Loft Loft
3rd Floor | 3rd Floor

PAGE 101 ©

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


®

> %) r
s o
Qo DB 2
T ]
h 9l Euwed -
3| 9=5<S3
5 £8=zE3
5 ACW”G :
.m W%D 2
@ =

PAGE 102
PDG Domus 060323-1

April 11, 2006

KEY PLAN
©

NN

Q

|
]

. N VN 4
e ) o


Lori Pingel
AC_stamp


®

DRAWING
Site Assembly
CellE
ViewB & C
Installation-Bolts
Detail 19

eS):  Hartfdr

PAGE 103

4

KEY PLAN

®

Cell "A"

r | 2nd Floor
L
d

2nd Fl
Loft
d Fl

cell'c” | cell"B"

With Deck | Cell"E" | Cell'D"
Over nd Floor

©

PDG Domus 060323-1

April 11, 2006

FIELD NOTES

Bolts torqued to minimum of 20 ft. Ibs.

Grade 5 Bolt & Nut 3/4" x 1 1/2"

Cell Connectors



Lori Pingel
AC_stamp


®

DRAWING
Site Assembly
CellE
View A & D
Installation-Bolts
Detail 20

eS):  Hartfdr

PAGE 104

KEY PLAN

%)
2
£ P
o
o 5o
Sia B mnc
%) mwm wl 52
=)
w25 3| |ElSe
o cI E o| @&
| S Mg c o
Zl 0= £ Z| c =
Ia) 5°E ol 6o
2 525 @ Sz
g c=2| || 25
enm mr.
833 852
s8c ® ® S
n 5 cCCco
Qw5 ££0
g0+ c9Q
Egcon S <
O © = ce <
2509 56
0o =zZ0
\
\

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


>< , - =

N —

®

DRAWING

Site Assembly
CellE
View A & D

Installation-Bolts
Detail 21

eS):  Hartfdr

PAGE 105

FIELD NOTES

Grade 5 Bolt & Nut 3/4" x 13 1/2"

Cell Connectors

Bolts torqued to minimum of 20 ft. Ibs.

KEY PLAN

Cell A"
Cell 'D"
2nd Floor @
Loft 3

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


‘/".; S
IS of
\_
B

it
=\

N\

—¢

FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 13 1/2"
Bolts torqued to minimum of 20 ft. Ibs.

DRAWING

Site Assembly

CellE
View A & D
Installation-Bolts
Detail 21-1
KEY PLAN
Cell"C" Cell "B" Cell "A"

Cy| "o | ik | i | @) o8 Harttdr

Loft Loit
3rd Floor | 3rd Floor

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


7,

©

DRAWING

Site Assembly
CellE
View A & D
Installation-Bolts

Detail 22

) Hartfdr

PAGE 107

I

KEY PLAN

®

Cell "A"

Cell "D
2nd Floor

2nd Floor

cell'c” | cell"B"

With Deck | Cell "E"
Over

©

FIELD NOTES

AVAV/AVAY -

Intermediate Cell Connectors
Grade 5 Bolt & Nut 3/4" x 6"

Bolts torqued to minimum of 20 ft. Ibs.

FIELD NOTES

When installing Connector Bolts &

Nuts, check torque rating on other

Connectors

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


Q A m\‘b
xﬁ)«//// W /._ .,

a7
=

Y

—— (®)

A= AW

=

JA

.

7,

©

DRAWING

Site Assembly

CellE
ViewB & C
Installation-Cell to
cell
Staircase

railing
Detail 1

eS):  Hartfdr

PAGE 108

4

KEY PLAN
©

FIELD NOTES

Reinstallation of Staircase railing. Staircase railings
are installed in factory for fit & finish, then removed

for shipping. Differences in design and layout affect
bolt patterns from supplier to supplier. General bolt

holes are space 8 to 10 spindles apart.

®

Cell "A"

2nd Floor

2nd Floor

cell'c” | cell"B"

With Deck | Cell "E" | Cell'D
Over

©

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


®

PAGE 109

PDG Domus 060323-1

April 11, 2006

N EWLNY
AN
¢ L

———

=y )



Lori Pingel
AC_stamp


—

/ \
\ ==
— /i I
[ui ] | O p
0
i * || LY H . o OO0
EENIERN |
V\ - K
\ N C
\ | \
\ \
\
II
/ FIELD NOTES
Plumbing reconnection, use PVC
t activator & adhesive. Hot water line &
. / cold water line & test DRAWING
\
4 Site Assembly
FIELD NOTES CellE
] ] View C
Plumbing reconnection, use PVC Installation-Cell to
~ activator & adhesive. Waste stack & cell
\\ test Plumbing
N ~ KEY PLAN Detail 1
Part of the structure has been cutaway in ~— _ L ©
this drawing to provide better - FIELD NOTES e | oma | cmm
visualization of installation process. R U
Install Plumbing support clamps with Cp| owr |zndFoor |zniror | (B) &g - ‘H‘lar‘tf,gr%
self-tapping screws 1/4" x 1/2" ot |t

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


®

FIELD NOTES

NOTE: Between floors 3/16"
plate steel used as firestop.

Electrical case area

: =
> =
5 ocg _2 i< |
o € O w8 =
w7 oe— [
Z| o <S== 4= T
2| =T e nd L
< MeW.UCCSﬁ .
| 3082 g£¢0 e O
s >80 o =z | <
n 2 =
= ol
4
= 88 .
> 3 8
< -
z o wd 5 |@
2 LZ 5T ¢
Se|f i oA
X x
3 g0
° 5
, &
Q
o
O
°
4]
>
)
2
o
[=% —
© [} (]
— 2 R=]
% 8 3
£33 = a g
oO%Q .- (%]
22358 23
§58 8 £e
© o SF .
o< T c
2852 25
£282 | o 3%
SEL® 9] 2=
S50 > . =3
=5 = [l o) con
T QDO a.£ = c
oS>0 o c T
= com T 9 0B
= OV =] >
OO0 Wy 1 0 o c
LoOoOw D5 =]
we s © S O ®
< o N
TR ol
3B 23
i =2
" E o>
=
og
=
s o
< o

PDG Domus 060323-1

April 11, 2006



Lori Pingel
AC_stamp


FIELD NOTES

Uniroyal Silaprene
Adhesive/Sealant
applied to edge

of installation process.

QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 22

Plumbing reconnection

Plumbing test

Electrical reconnection

Electrical test

Edges between cell and
Access hatches are filled
level with Weld-On Sealant

Plaster work: Embed
elastomeric plaster and
tape

Adhesive/Sealant applied to
exterior edges between Cell

United Duct Seal "Uni-Seal"
sealant applied to duct edge

DDDDDDD

Site Assembly
CellE
View A & B
Installation-Cell to
cell
Cell mounted

Exterior view

Finished checklist

ell "C' ell "A"

o | %, | 52 | @) ﬁg%’
arior | oo %
PAGE 112

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 12

Plumbing reconnection

Plumbing test

Electrical reconnection

Electrical test

Edges between cell and
Access hatches are filled
level with Weld-On Sealant

Plaster work: Embed
elastomeric plaster and
tape

Adhesive/Sealant applied to
exterior edges between Cell

DRAWING

CellC
Site Assembly
ViewB & C
Installation-Cell to
foundation
Setting cell

KEY PLAN

FIELD NOTES

©

Uniroyal Silaprene
Adhesive/Sealant applied to edge

" | cells”

or | smarioor | (B) o8 Harttdr

ect el E
r | 2nd Floor

Ce

Loft
3rd Floor

Cell "A"

Loft
3rd Floor

PAGE 113 ©

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


®

=] <

W, Cﬂnw 1

ol E, Q8 E —
2| 00O £E S

2| gg0es 8 Ll

£ <8=z8SE O
°l 27 832%

» 3 O <

= [l

KEY PLAN
Cell"C’ Cell "B" Cell "A"
o | S | S | @ PSR
Loft Loft

B

-

A
/Ay
Wi

...@. 4%

\YAY/;

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
-a
=0
50
<o


Lori Pingel
AC_stamp


DRAWING

Site Assembly
CellC
View A & D
Installation-Cell to
foundation

/ > Cell mounted
KEY PLAN
A ®
Cell"c" | cell"B" | Cell"
= | 2aFioor | 20 Fion ® m’
PAGE 115 ©

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


®

- 2
2 o8,
"
2l soR 5=
B A= = 8
< C>To
5 cO03ga0
= b
» 2

eS):  Hartfdr

PAGE 116

KEY PLAN

FIELD NOTES
FIELD NOTES

Bolts, torqued to minimum of 20 ft. Ibs.
Nuts, check torque rating on other

Cell Intermediate Connectors
When installing Connector Bolts &
Connectors

Grade 5 Bolt & Nut 3/4" x 6"

S~

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


©

PAGE 117

PDG Domus 060323-1

April 11, 2006

\
g Wcmmm m
—T ..
- - 9
\ L) 4
a) P/‘»//&« HGM mm
82y & Es
THIREET
8y | g8
3 8% £55
OO0m =Z0



Lori Pingel
AC_stamp


———

FIELD NOTES

Cell Corner Connectors
Grade 5 Bolt & Nut 3/4" x 6"
Bolts, torqued to minimum of 20 ft. Ibs.

FIELD NOTES

--/

When installing Connector Bolts &
Nuts, check torque rating on other
Connectors

DRAWING

Site Assembly

CellC
View C & D
Installation-Bolts
Detail 3
KEY PLAN
©
Cell"C" Cell "B" Cell "A"
‘With Dec Cell "E" Cell "D"
Dk | 2 Fioor | 20 Fioor @ %“m’
aé%or | 14 o %
PAGE 118
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


N\
/<\|
Y

%

\ <\>/_§
N

-/

\>

llla..

_
| @4\;

/s!/—

®

DRAWING

Site Assembly

CellC
View C & D
Installation-Bolts

Detail 4

) Hartfdr

PAGE 119

I

/ \\»!\\h.\ /Y \
- \./0 \ .,I‘\\!‘%\. 2

l!

KEY PLAN

®

Cell "A"

Cell 'D"
2nd Floor

Cell 8"

2nd Floor

Cell"C"

With Deck | Cell "E"
Over

©

[

\

1)
Ee]
0. £ B 5
[
S Yo =
2w N = s
X5 23
c% © m c
S®E 52
n|l 805 nl S o
w OS5g w| oc
=l ==z . =
o| o c Q| € @®
2| SRE zZ| €
a = E ol 8%
a1 85 o = Cw-
W © m = w o5
w = e) [T c
893 Sxo0
O
mwm %00
Q=9 cCCo
=0
£0 c 2
2 o U E
= 2
) £50
@ =Z0
~
N\,
N\,
\
> 1
]
/
4

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


lllllllllllllll

cel

Wi oe | sna Foor | 20 Fisor @ ﬂ.—AE%

| £S): HartfortkJy,
PAGE 120

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


Grade 5 Bolt & Nut 3/4" x 1 1/2"
Bolts, torqued to minimum of 20 ft. Ibs.

DDDDDDD
When installing Connector Bolts & Site Assembly
Nuts, check torque rating on other CellC
Connec tors View A & B
Installation-Bolts
Detail 6
e 02N, | KEYPLAN
" antonio 52 4 @
. Cell"C" Cell"B" | Cell"A"
) o o o | @ Lo APPRG,
L(S):
\ i | s %on — '%
PAGE 121
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


12§ ok
OL i
Oy 2 ._.‘ 1/
25
/ Grade 5 Bolt & Nut 3/4" x 1 1/2" AN S f
/ Bolts, torqued to minimum of 20 ft. Ibs. \ d o
\
\
\ FIELD NOTES
When installing Connector Bolts & e
/ Nuts, check torque rating on other
/ Connec tors Installation-Bolts
N\, Detail 7
KKKKKKK
/, Cell"C" Cell "B" Cell "A"
S~ With Deck | Cell"e” | cell'D"
\ ©> Over | 2nd Floor | 2nd Floor @ Rah Hartf .
- Loft Loft
. ———— 3rd Floor | 3rd Floor PAG E 122 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


- \'\ Floor deck has been removed
/W ~o

to provide better visualization
\ of the installation process

~,

FIELD NOTES

Cell Connectors
Grade 5Bolt & Nut3/4"x91/2* | | DRAWNG
Bolts, torqued to minimum of 20 ft. Ibs.

Site Assembly

CellC
View C & D
Installation-Bolts
Detail 8

KKKKKKK

Cell"C" | cell"B" | Cell"A"

o | S | S | @ ﬂ?%“m
Loft Loft
3rd Floor | 3rd Floor %
PAGE 123

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


B

EEEEEEEEEE

Grade 5 Bolt & Nut 3/4" x 9 1/2"
Bolts, torqued to minimum of 20 ft. Ibs.

DDDDDDD

Site Assembly
CellC
View C & D
Installation-Bolts
Detail 9

KKKKKKK

lllllllll

Cell"C'
| v | % | @ ﬁgrAF—’%
| eS):  Hartfor .
PAGE 124

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


DDDDDDD

etal
20y
,.o e, /
o .
ONIO %~ ¥
. * Cell"C" | cell"B" | Cell"A"
: B | znarior | 2naFoer | B o8 Harttdr
N K Loft Loft 7
d Floor | 3rd Floor PAGE 125

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


emoved to

visualization of the

Floor deck has been ri
tallation process

provide better

\S
\
\

~— -

®

Site Assembly

CellC
ViewB & C

Installation-Bolts

Detail 11

PAGE 126

nectors

Bolts, torqued to minimum of 20 ft. Ibs.

Grade 5 Bolt & Nut 3/4" x 9 1/2"

Cell Con

e
2
0=}
=
]
)
= B8
3 s 2
> 8 3z
< -
oy oS .
& g 8 -
X x
o &s
5 26
° =
Y
/
174
4N
N o
U
Az, ¢ s
H H
2
3
), &

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


on

Floor deck has been removed to provide
better visualization of the installati

e

process

®

Site Assembly

CellC
ViewB & C

Installation-Bolts
Detail 12
eS):  Hartfdr

PAGE 127

Cell A"
Cell 'D"
2nd Floor @
Loft

PDG Domus 060323-1

April 11, 2006

y- 4 7 7, Z
\.l,,\ S S,

0\
4
=

W v

FIELD NOTES
FIELD NOTES

Bolts, torqued to minimum of 20 ft. Ibs.

Cell Corner Connectors
Grade 5 Bolt & Nut 3/4" x 9 1/2"

Hatches are filled, leveled with Weld- |
FIELD NOTES

On Sealant

Remaining 8 Hatch Covers installed
Edges between Cell and Access
Ref: Electrical Application Manual

approved COC-1 Crossover 3/C

Reconnection: Use of Molex UL
Connector

Electrical reconnection point



Lori Pingel
AC_stamp


DRAWING
Site Assembly
CellC
ViewB & C
Plumbing
Detail 1
EY PLAN
Cell "B" Cell "A"
Cell "E" | Cell'D"
2nd Floor | 2nd Floor @ 4&%‘%’
ariocr | oo ﬁg ‘%

©

line

Hot & Cold water

in Cell C using unions

e test after reconnection

Reconnection

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


®

\"’ﬂl‘u\NW«\\\\\b% ' WW, ) w S
\\ \%\w ‘M\\\\\/bx \ : m w M Dlm. m

eS):  Hartfdr

PAGE 129

N
N\

FIELD NOTES

Reconnection in Cell C using unions
Pressure test after reconnection

Hot & Cold water line

This drawing has had parts removed to

provide better visualization of the

installation process

A

5

D
R » »' \~WO

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp


Kitchen sink drain line

Kitchen sink disposal line

Water supply for refrigerator icemaker

Drain line clean out Sink hot water supply

Sink cold water supply

\CELL C

Dishwasher hot water supply

Cold water line connecting union Dishwasher cold water supply

Hot water line connecting union DRAWING

Site Assembly

Field Notes \%g\'ll\’%%i
Cell C Waste Water Line reconnection Plumbing
point See through view
Reconnection using PVC activator and KEY PLAN .
adhesive © Detail 3

Cell"C" | cell"B" | Cell'A"

Wi Deck | callE® | ca'or ® ﬂ‘_AE%
Over | 2nd Fioor | 2nd Fioor
£(S):  Hartforl

Loft Loft
3rd Floor | 3rd Floor

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


CELL B

Field Notes

Two connection points

3" Waste line

4" Waste line

Disposal
Dishwasher cold water supply Kitchen sink hot water supply
D DRAWING
Dishwasher hot water supply
Water supply for refrigerator icemaker Site Assembly
CellC
Kitchen sink cold water supply View D
Field Notes Plumbing

Kitchen sink drain line

See through view

Cell C waste water line
reconnection point
Reconnection using PVC
activator and adhesive

KEY PLAN )
@ Detail 4

Cell'C" | cell"8" | Cell"A"

5 | 4% | o Loxe-AEPRG,

Loft Loft ﬁt’%
3rd Floor | 3rd Floor

PAGE 131

April 11, 2006
PDG Domus 060323-1

With Deck
Over



Lori Pingel
AC_stamp


Kitchen sink drain

Disposal

Hot water supply

Cold water supply

Dishwasher hot water supply

Dishwasher cold water supply

Field Notes

Cell C waste water line
reconnection points

DRAWING

Drain line
Site Assembly
CellC&B
View A
Plumbing
See through detail

b
////\
/\\
\ ‘

500 @) o =

Detail 5

Cell"g” | Cell"A"

DA LG % o 5 5= o @M Aoy
< PAGE 132

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


D — Hook-up for Cell E

o=t
/ 4" Waste vent riser

Hot water tank hook-up \

CELLA ——*

Washer valve drain box

/ Bathroom

o=t

3" Washer Dain line

Toilet

(

Outside water supply

~

i) ‘( r
it A

W

@

Sink water supply

Sink

Plumbing system first floor
System view without structure

Field Notes

Pre-assembled plumbing component
Ref: Finished view of pre-assembled
plumbing component seen on (Site
assembly Cell C View D & A See
through view Detail 3)

Pressure Tested after reconnection

Disposal

Kitchen sink drain
3" Washer Drain Line
Kitchen

Water supply for
refrigerator icemaker

DRAWING

Site Assembly
CellC&B
View A
Plumbing See

through view

KEY PLAN

Detail 6

©

Cell"C" | cell"B" | Cell'A"

With Deck | Cell"E" | Cell'D"
Over | 2nd Floor | 2nd Floor

&!é); Hartf%rb

&\

Loft Loft
3rd Floor | 3rd Floor

PAGE 133

.E,

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Uniroyal Silaprene
Adhesive/Sealant
applied to edge

\

QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 12

Plumbing reconnection

Plumbing test

Electrical reconnection

Electrical test

Edges between cell and
Access hatches are filled
level with Weld-On Sealant

Plaster work: Embed
elastomeric plaster and
tape

Adhesive/Sealant applied to
exterior edges between Cell

DRAWING

Site Assembly
CellC
View A & B
Installation-Cell to
foundation
Cell mounted

KEY PLAN Exterior view

©

Finished checklist

Cell"C"

With Deck
Over

Cell "B

Cell "E"
2nd Floor

Loft
3rd Floor

Cell "A"

2@ oW AEPRS
— OPAGE 134 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Apply Uniroyal Silaprene
Adhesive/Sealant on contact surfaces

FIELD NOTES

Install End Gable Connectors
Grade 5 Bolt & Nut 3/4" x 6"

Bolts, torqued to minimum of 20 ft. Ibs.

QA Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 322

Plumbing reconnection

Plumbing test

Electrical reconnection

Electrical test

Edges between cell and
Access hatches are filled
level with Weld-On Sealant

Plaster work: Embed
elastomeric plaster and
tape

Adhesive/Sealant applied to
exterior edges between Cell

DRAWING

Site Assembly
End Gable
View A & B
Installation-End
gable (G1)
Detail 1

KEY PLAN

©

Cell"C"

With Deck
Over

Cell "B
Cell "E"
2nd Floor

Loft
3rd Floor

S | @® A-AAEER

Loft
3rd Floor

Cell "A"

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


=A
K-\ -'. ‘\

—
=\<

(]
|l ‘
== ‘

= I
—— =

Corner Connec tors

Grade 5 Bolt & Nut 3/4" x 6"

Bolts, torqued to minimum of 20 ft. Ibs.

L
T
’lj

KKKKKKK

........

| v | % | @ ﬂ’:%rm,
| it
PAGE 136 ©

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


FIELD NOTES

End Gable (G2) installed the

same as End Gable (G1)
FIELD NOTES

Cell Connectors
Grade 5 Bolt & Nut 3/4" x 6" 1
Bolts, torqued to minimum of 20 ft. Ibs.

-ﬂ FIELD NOTES

End Gable Fastener Points
3/8" x 1" Bolt & Rive-Nut with washer
Tighten snug, 14 Bolts

A

i‘y\\-l

I\

\\v ‘\_—w.li\_

;

A
7RV Y | |

DRAWING

Site Assembly
End Gable G2
View A & B
Installation-End
gable (G2)
Gable G2 mounted

KEY PLAN

©

c" Cell "B" Cell "A"

S S| @ ﬂ’:%rm
oo | 3 Poor %
PAGE 137

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


Cell "B
Cell "E"

o Sy
28 OF o\
AL ‘u DRAWING
@y antomo 7Y
i cods \ | Site Assembly
o i=a e i /| End Gable
. <& View A & B
N\ v&‘z‘ Installation-Bolts
Y < Detail 1
cell"c cell'a”
With Deck cell'D"
Over | 2nd Floor | 2nd Floor @ —E%r—m’
ardioor | ard Hoor %
® PAGE 138

A=

femm——
——=

\

\

V=",



Lori Pingel
AC_stamp


-
e mf&mﬂ_\u
2@ igf|Z| B3TSSE
nnnnn
Cvs.mo ...&.n\ R M .EMQD

| | Stk | S | @) m’
PAGE 139 ©
April 11, 2006
PDG Domus 060323-1

ee—————

y—

I; = \.‘\\ — / .
SN =
SlE
) =
WAL N
D /4 )

P

=

= /4 AN LA
! I‘.M,w‘ e A— - “Il<\\\‘
Al aNy==="
4 T

XA
AL



Lori Pingel
AC_stamp


Torqued to minmum of

......

1
o) il

7 Vit #'4'"," ==
T/ gy e

i

j i

Vi

Wi i /‘ ‘ \\E
= |
V-
) 0\
oy 2
= N
AV- y o
Y/ | h
| 0
Vi
\ c B = V,//l

/

e H 7
| ettt

NNAV/Z==\
%
! AN

P
3333333333333333


Lori Pingel
AC_stamp


FIELD NOTES

Install End Gable Fasteners

Tighten snug, install 32 bolts per '
roof side

FIELD NOTES

FIELD NOTES

Both roof Types (1 and 2) use the same
fasteners. The Type 1 roof has no knee
wall and the roof sections are one par
Location of all fasteners are in
place on a Type 1 and Type 2 roof.

00
View C & D
Installation-B side
Type 1
Detail 2

KKKKKKK

——l T = ||
= g 5 S IE
< IS 5 S{liE==
w =] s “‘ Bli= ——
? =

\ =P =
o [of —| y

=N = E R S 1

Cell"C’ Cell "/
| v | % | @ ﬂ’:%rm,
e | s
PAGE 139B %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Cell to roof fasteners
Grade 5 Nuts 3/4" x 2" |
Torqued to minimum 6f
20 ft. Ibs. Install 12 nuts

KKKKKKK

©
©> Over anL:‘oor znuL:luur @ 4&%%’%
PAGE 139C
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Install 26 ridge beam fasteners
1/2" x 1 1/2" bolts & nuts, 1

FIELD NOTES

GTHTITT,

0 | P <P

iz = =
/ il I
) ViewC & D

N

—
<

KKKKKKK

Cell"'C" | cell"B" | Cell"A"
ol | S5 | 1 | @ ﬂ’:%rm

i | arbocr ‘ %
PAGE 139D

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


FIELD NOTES

Install End Gable Fastener
Bolt 3/8" x 1"
Tighten snug, Install 6 bolts

DRAWING

Site Assembly
Roof
View C & D
Installation-Bolts
Lower section (L1)
Detail 2

KEY PLAN

cell“ct 5

lllllllll

e | @ ﬂ’&%ﬁm,
PAGE 140 ©

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


EEEEEEEEEE

[
7 AlE
7

—\

=" ===
0
—

W

|||||||||||||||

ra
‘\ Y

\

\)
\

g ‘y
U
o
z

i

pril 11,
3333333333333333


Lori Pingel
AC_stamp


%0 |2 vz
IHEEE

S
C
KEY PLAN

cell'c | cells" | cell"A"

B | znarior | 2naFoer | B B Hartidr
Loft Loft . ’%
3rd Floor | 3rd Floor
PAGE 142

S0 S
1



Lori Pingel
AC_stamp


==

v

—

EEEEEEEEEE

\

V//

S

=

=\
[~ ///’

N7
/]

) E— S—
7

—=

—

=

DY
N

</

<
N\

pri s
3333333333333333


Lori Pingel
AC_stamp


=]
\

] = O
>
Sz82

3 2| 0% L=

s Z = =

o infkl2| 8a8<8s
E J2% ) |3 2xzESL
s.mo c&F ) =0

|| S5 | S | @ ﬁg%’
oo | 3 Poor %
PAGE 144

/

—



Lori Pingel
AC_stamp


\ ’ TN 0y 2/
Ny €HED AYS' £
DRAWING
Site Assembly
of
Vie &B
stallation-Bolts
nee I (K2)
Detail 5
With Deck | Cell"E* | Cell'D"
©> Over | 2nd Floor | 2nd Floor @ 4&%"%’
aé%or | 14 o %
PAGE 145

©
),
~
\i
¢ e & -
cE ;\}4"
%m .».,\\ S
5 B3 1N _S2\
E W o)) A== AN
) nlawm — 7]
M =X o U
T 828
T - <
c Knmmu
o -
1..I_m_|.v
T X<
Bo @
n/W

A= \\———
— —

N

W W

Al ‘\ \ \ V= ) B ) /
e /IS i g /‘
\»J\ 9 SO S \4 <> / - ——
f VAR ‘ 4\ \W \ ’4\ j
7 \ \ SN BTN 7/ e
7 IS Y= = -~
/ A / — y = S &
e Y w %= AV AR
)4 \ . Oy ,m,\.- e A\\ /
S ...'..440 \\W ) — —
. i \

@

o/o

e — ——
N & \ / 4 — Wf
N // N A\ A\ ’ ’E@//J
———— ) [N A s = o e S S \\\ f——
/14. ..w/ R NS — \ v /V/ \/ AN “ ;
LSO LIS N e
'l/#ﬂ ) //; // = ‘ 4
AN = N
N /< \\,m/ s / M =/ V
NY/AV/ A / '/
O o
0| 888
= m. 85

ey \\\
2\

70

C\gb/d\h\

——



Lori Pingel
AC_stamp


g
o‘g O_F.. \\‘\‘
&v”’,.s "o \, DRAWING
« NTONIO 7 ¥
y N 3 3k Site Assembly
Qo it of
2%] 6520 S5/ | ViewA&B
N e sd# | Installation-Upper
“Erep BF section (U1
= Detail 6
KEY PLAN
Cell"C" | cell"B" | Cell'A"
woe | S | 2 | @) ﬁgrAF—’%
L(S):
oo | s Plr — '%
PAGE 146

VAPSN N N/ \
4 7 . \ U
Y 4 V4 p Y
\In I'n\ ; S 4 \Y !
i N N i —-—-
N _ y > L& 7 WV
X A A ' \ ogl.-\
N - N Y A V
B 7 e \
~r|.‘, A l//ﬂ\ S~ P/’e v < 4 A\
ENV N, NE/ SAY
(1 4 NS Y S . \b > 1‘
— = ) — \ 4 S = a b
N R A S =" Iy —
) 2 =y = ..nn\n%\\.//‘\ .\\ <
\\ \a AN AY <\ (AN N\ = = =
, AR )
S ) A
S COACING
S\ J \ AR

RV
RYRY/



Lori Pingel
AC_stamp


4 § e Qo m —

V & 2

fof 2 Hg 12l g| 5p2E2
3 = c

z HP ] e .mO
......
z 2)° F&7 |k MR.WMU

|| S5 | S | @ ﬁg%’
oo | 3 Poor %
PAGE 147

a

.\i 7

N N Q

7 NS

U4 v & —————\\\
4 = N

: @ )
M» 7‘ N ~ l.\ .>~\/ ’/‘/
y 5

—_——

A i Wy E AN
N

\ /

\Mm, S ‘/I\%W\ .v ;\s, e
S NN /,.,./«\_r\_. — W/‘\" NM“// %
A ~ A N) \ / P/ﬁ”//‘

@
1o}

/9



Lori Pingel
AC_stamp


A\

) 4AI

i 4;,: "t"é A'\X\W,‘\\w\\\ ’\
|

O\
N

PN\ N "\\
_ ' \

N yH
D ’ =
N

=
i

¥ 2N
) N N
: TN
\ S /N
] ‘ \\
5% 57//3 =
e\ =

J
—

pril 11,
3333333333333333


Lori Pingel
AC_stamp


FIELD NOTES

Uniroyal Silaprene Adhesive/Sealant
applied to exterior edges between
Cell/Roof/End Gable

QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied to
frame

Bolts and Nuts installed

Bolt/Nut Count - 322

Plumbing reconnection

Plumbing test

Electrical reconnection

Electrical test

Edges between cell and
Access hatches are filled
level with Weld-On Sealant

Plaster work: Embed
elastomeric plaster and
tape

Adhesive/Sealant applied to
exterior edges between Cell

DRAWING

Site Assembly
Roof
View A & B
Finished checklist

lllllllllllllll

Cell"C’
| s | 5 | @) LoneAPPRS
oor | s8n %
PAGE 149

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Uniroyal Silaprene adhesive sealant
applied to contact surfaces

="
DRAWING
Site Assembly
CellC
View C & D
Installation-Deck
cap
KEY PLAN
Cell"C" Cell "B" Cell "A"
With Deck | Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ 4&%’%’
6 %oor | ai¥bor %
PAGE 150
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


Q%
k=
I

I

oo
\

FIELD NOTES

Fill bolt holes with Uniroyal
Silaprene adhesive sealant |
both on deck cap and on
house

)
—

\\
]

\
\

\
(R

A~ B

FIELD NOTES

Uniroyal Silaprene adhesive sealant
applied to contact surfaces

FIELD NOTES

Deck cap fasteners Grade 5 bolts
1/4" x 3" with spacers.
Torque to minimum of 5 ft. Ibs.

KEY PLAN

©

Cell"C"

With Deck
Over

Cell"g” | Cell"A"

DRAWING

Site Assembly
CellC
View C & D
Instalation-Deck cap
Detail 1

5 | 4% | o Loxe-AEPRG,
arior | oo %
PAGE 151

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


\ /

“
i

X

K
&.
"
ol

J) ....// \s\\\\\\\\\\\\\\\\\\\ =
GNORRL N

' e

\

)

{
0
/

%
/
N

{

{00
i
N
4

i
i
il
b

QU
0
...“..\

FIELD NOTES

-

Deck cap fasteners Grade 5 bolts
1/4" x 3" with spacers
Torque to minimum of 5 ft. Ibs.

S

&

PAGE 152

Loft

Loft
3rd Floor | 3rd Floor

S
>
S of
o Fox’g o
o=
2| 825523
: Mewmwm
o Ce” 3
ol o 23
= S8
n 17}
c
g Q
= b}
z EH
5 .
= s
o e b8
] 8 8%
@ . x
1 s
]
/
) 7
)'l
£
o .
e$a.mue
=c 883 ¢
253 R
OngmO
8eaxcEe
Eosws 9,
—- =
2h o8 C
@ S=c._go
02T 58 e
w 85362 &
_m 5E23®I
ZEE=5%0g
< 29g2538s .
c 8 @
E=%S=08T
T ha ENRO
A ELBOTS
o csS o= 0O
o\ ~Cn®3¢93
Lognd 29 —
SEe88.0 T E
OT¢=t2 85
<t 2= g = 23
xYZs0E ow
OS> X n%n
ASSEgm| 0| 2,8
pmmce ul hwp
< %nlas = ..h.&hnwe
n @) We @
Z| X3
) bd%m
— MMD
) -2c¢
Ll sge©°
a5¢
=80
c %
g /
T c 5
% 28§ P
2w
n%n 3
B2
o
Tm.wae
0|s9908
=z Shww
nlo3T Y )
Ol 8 )
Lo
meo
ass
=89
Tp=<
PR

—_——

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


FIELD NOTES

Flashing Notes
Deck cap has flashing built into it.

Apply 4 passes of Uniroyal Silaprene adhesive sealanbn
flashing. Excess sealant will squeeze out after bolting cap in
place. Remove excess sealant from edge. Sealant is

colored the same as home.

FIELD NOTES

cap

Place sealant on edge of deck

KEY PLAN

©

Cell'C" | cell"8" | Cell"A"

With Deck " | cell'D
Over

DRAWING

Site Assembly
CellC
View C & D
Installationbeck
cap
Detail 3

2?73“:}501 2nd Floor @ 4&%‘%
arior | oo %
PAGE 153

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Flashing Notes

Deck cap has flashing built into it.
Apply 4 passes of Uniroyal Silaprene
adhesive sealanton flashing Excess

sealant will squeeze out after bolting cap
in place. Remove excess sealant from
edge. Sealant is colored the same as
home.

DRAWING

Site Assembly
CellC
ViewC & D
Installationbeck
cap
Detail 4

KEY PLAN

©

Cell"C" | cell"B" | Cell'A"

2% | =2 | @ ﬂz%rm
ardioor | ard Hoor PAGE 154 %

April 11, 2006
PDG Domus 060323-1

With Deck
Over



Lori Pingel
AC_stamp


FIELD NOTES

Flashing Notes

A B Deck Cap has flashing built into it.
\ / Apply on flashing 4 passes of Uniroyal Silaprene
- Adhesive Sealant.Excess sealant will squeeze out
after bolting cap takes place. Remove excess sealant

from edge.Sealant is colored the same as home.

FIELD NOTES

Bolt deck rail onto cell

\

FIELD NOTES
= Deck cap fasteners Grade 5 Bolts
— 1/4" x 3" with spacers.
ﬁ Torque to minimum of 5 ft. Ibs.
”
—
—
—
—
—
—
ll DRAWING
ST
ﬁf Site Assembly
CellC
ViewC & D
InstallationbDeck
Cap
Detail 5
KEY PLAN
©

Cell"C" | cell"B" | Cell'A"

Cy| "o | ik | i | @) o8 Harttdr

Loft Loft
3rd Floor | 3rd Floor

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


~~

-

FIELD NOTES

Place sealant on bolts before

installation.

—~— — L

\

-

S

FIELD NOTES

Deck cap & hand rail fasteners Grade
5 Bolts 1/4" x 3" with spacers.
Torque to minimum of 5 ft. Ibs.

KEY PLAN
Cell"C" | cell"B" | Cell'A"

ith Deck | Cell"E" | Cell'D"
©> Over | 2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
CellC
ViewB & C
InstallationbBeck
cap
Detail 6

@ o3 2PRo;
C?. PAGE 156 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


7

FIELD NOTES

Deck cap fasteners Grade 5 Bolts 1/4" x 3"

with spacers.

Torque to minimum of 5 ft. Ibs.

DRAWING

Site Assembly
CellC
View C & D
Installationbeck
cap
Detail 7

KEY PLAN

©

Cell"C* | cell"B" Cell "A"

Cell 'D"

With Deck | Cell "E"
Over | 2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

@ o3 2PRo;
C#PAGE 157 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


FIELD NOTES

Apply sealant on edges of finished trim using Uniroyal
Silaprene adhesive sealant. Remove excess sealant
from edge. Sealant is colored the same as home.

FIELD NOTES

Deck cap fasteners Grade 5 bolts 1/4" x|
3" with spacers.
Torque to minimum of 5 ft. Ibs.

DRAWING

KEY PLAN
Cell"C" | cell"B" | Cell'A"

With Deck
Over

Loft Loft
3rd Floor | 3rd Floor

Site Assembly
CellC
ViewC & D

InstallationDeck

cap
Detail 8

Znarioor | 2na oo | B e®):  Hartfdr

PAGE 158

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA

Verification and check-off
on drawing package

Adhesive/Sealant applied
to deck cap

Bolts and Nuts installed

Bolt/Nut Count - 25

Adhesive/Sealant applied
to exterior edges between
Cell E and deck cap

Hand rail installed with 25
bolts and spacers

DRAWING

Site Assembly
CellC
View C & D
Installationbeck
cap

KEY PLAN

©

Cell"C"

With Deck
Over

Cell 8"

Cell "E"
2nd Floor

Loft
3rd Floor

Cell "A"

S | @® A-AAEER

Loft
3rd Floor

Finished checklist

PAGE 159

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


PAGE 160 ©

\
< %)
c
° - 29 25 0% s
= o =
- o x99 Nm mm.l&ml <
2 < X = PO . CEogbg £
= o8 x e B=R noa2T-= 8
s Q S T > T © ..
glesS °® N e == AHTMHD o
2/§L888 <= C | gRE 2w S8 i
Olgscl| £§ |E | 89 | o 8 £
5|8 8%T T < 3 C B = )
28 cc8 o= 8 EMB | L
L | o 5 ! c
" | 60= o n g - Ow E 35 > @
cSlg58s 28 | & | =02 |8
L|=20&2 0o Q ST .E O 7. “ . .5 3
Liseta| 8 | 8| 8SE | 5 4 4 i
LI038s| @ |d | EOE | Z 7O+ o 2 |8 8 ®
© e i 2z Q : 5 s 3
i MSZ : o BobE 8
E S0 ¢ b g 8 3
- w ~
..mo Ky 7 |¥ P
ﬂl\\ s =

PDG Domus 060323-1

April 11, 2006

ter is

pilas

Drill 6"x36" deep hole, tamp and place
pilaster. Back fill hole once i

placed

nut 3/8" to Grade 53/8"J |
s torqued to minimum of 10 ft.

ector Post
rade 5 nut
t

9
. Nu

It
It



Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install Porch Connector
Bolts Grade 5 - 3/4" x 4"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 4

Install Connector Post Bolts
Grade 5 - 3/4" x 6 1/2"
Torqued to minimum of 10
ft. Ibs.

iy

— —
FIELD NOTES /
Porch Connectors FIELD NOTES

Grade 5 Bolt & Nut 3/4" x 4" / Connector Posts

Bolt Count - 4

DRAWING

Site Assembly

Bolts, torqued to minimum of 10 ft. lbs. Grade 5 Bolt & Nut 3/4" x 6 1/2" | Small front porch
Bolts, torqued to minimum of 10 ft. Ibs. Type 1
View A & D
Installation-Bolts
Detail 2

lllllllll

cell 8"

oeck | calEr | cal D ® 4&%‘%
oo | s Plr %
PAGE 161

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


KKKKKKK

lllllllll

prif-11,
3333333333333333


Lori Pingel
AC_stamp


prif-11,
3333333333333333


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied
to Roof Flashing

Adhesive/Sealant applied
to Porch Landing surfaces
which contact Cell A

Install Hand Rail Bolts
Grade 5 - 3/8" x 4" Torqued
to minimum of 10 ft. Ibs.

Bolt Count - 2

FIELD NOTES

Flashing Detail

Roof sealed with Silaprene Solidseal

[NeySevwe)

B
- —

Y

|
A

By

Pre-cast concrete steps

FIELD NOTES

FIELD NOTES

Hand rails
Grade 5 Bolt & Nut 3/8" x 4"

Bolts, torqued to minimum of 10 ft. Ibs.

Porch Landing sealed with Silaprene

Solidseal

T

DRAWING

Site Assembly
Small front porch

Type 1
View A & D
Finished
Installation
KEY PLAN
©

Cell"C"

With Deck
Over

cell 8"
el '€
2nd Floor

Loft
3rd Floor

naFioor | narioor | () o8 Harttdr

Cell "A"

Loft
3rd Floor

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Pilasters set in hole 6" x
36" deep, then back filled

Pilaster Count - 4

Install Connector Post Nuts
Grade 5 - 3/8" Torqued to
minimum of 10 ft. Ibs.

Nut Count - 16

FIELD NOTES

Connector Post

Bolt grade 5 nut 3/8" to Grade 5 3/8" J
bolt. Nuts torqued to minimum of 10 ft.
Ibs.

FIELD NOTES

Drill 6"x36" deep hole, tamp and place
pilaster. Back fill hole once pilaster is

placed

KEY PLAN
Cell"C" | cell"B" | Cell'A"
With Deck | Cell"E" | Cell'D"
Over | 2nd Floor | 2nd Floor
Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Large front porch
Type 2
View A & D
Installation Bolts
Detail 1

&!é); Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install Porch Connector
Bolts Grade 5 - 3/4" x 4"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 4

Install Connector Post Bolts
Grade 5 - 3/4" x 6 1/2"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 4

Install Connector Post Bolts

é / B Y “ - nlv‘;\\
Grade 5 Rivnut- 3/8" x 1" = '/‘./-"'/‘\
Torqued to minimum of 10 ' s //’/l
| ==

ft. Ibs.
<
Bolt Count - 4 T
FIELD NOTES

Porch Connectors

Grade 5 Bolt & Nut 3/4" x 4"

Bolts, torqued to minimum of 10 ft. Ibs.

FIELD NOTES

Connector Posts DRAWING

Grade 5 Bolt & Nut 3/4" x 2"
Bolts, torqued to minimum of 10 ft. Ibs.

Site Assembly

24~ [ | Large front porch
FIELD NOTES Type 2
Connector Posts View A &D
Grade 5 Rivnut 3/8" x 1" — Installatlc_)n Bolts
Bolts, torqued to minimum of 10 ft. Ibs. Detail 2

Cell"C" K

“C" | cell"B" | Cell"A"

[ he | i | S8 | ® AAEER
i | arbocr %
PAGE 166

April 11, 2006
PDG Domus 060323-1



Lori Pingel
AC_stamp


——

QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install Porch Pillar Bolts
Grade 5 - 3/4" x 6 1/2"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 6

FIELD NOTES

Pillar Connectors

Grade 5 Bolt & Nut 3/4" x 6 1/2"
Bolts, torqued to minimum of 10 ft. Ibs.

Pillar Connectors
t Grade 5 Bolt & Nut 3/4" x 6 1/2"

Bolts, torqued to minimum of 10 ft. Ibs.

DRAWING

Site Assembly
Large front porch
Type 2
View A & D
Installation Bolts
Detail 3

KEY PLAN

Cell"C" B | Cel

o | S | @ m,
PAGE 167 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install Roof Connectors
Bolts Grade 5 - 3/4" x 3"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 7

Install Roof Connector Bolts
Grade 5 - 3/4" x 3" Torqued
to minimum of 10 ft. Ibs.

Bolt Count - 3

FIELD NOTES

Roof Conneci tors
Grade 5 Bolt & Nut 3/4" x 3"
Bolts, torqued to minimum of 10 ft. Ibs.

A ——a

—

[l
i

\-

AW\

B Vyi"==
\\!A\-

IELD NOTES

Roof Connec tors
Grade 5 Bolt & Nut 3/4" x 3"
Bolts, torqued to minimum of 10 ft. Ibs.

Installation Bolts
Detail 4

KKKKKKK

Cell ell "A"
| v | % | @ ﬂ’:%fm,
| a8
PAGE 168 ©

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied
to Roof Flashing

Adhesive/Sealant applied
to Porch Landing surfaces
which contact Cell A

Install Hand Rail Bolts
Grade 5 - 3/8" x 4" Torqued
to minimum of 10 ft. Ibs.

Bolt Count - 2

FIELD NOTES

Flashing Detail
Roof sealed with Silaprene Solidseal

FIELD NOTES

Porch Landing sealed with Silaprene
Solidseal

Pre-cast Steps —

FIELD NOTES

Hand rails
Grade 5 Bolt & Nut 3/8" x 4"

Bolts, torqued to minimum of 10 ft. Ibs.

===

—
1\
e

| — —

=
L
| —

KEY PLAN
Cell"C" | cell"B" | Cell'A"

With Deck | CellE" | Cell'D"
©> Over | 2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Large front porch
Type 2
View A & D
Finished
Installation

&!é); Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Pilasters set in hole 6" x
36" deep, then back filled

Pilaster Count - 4

Install Connector Post Nuts
Grade 5 - 3/8" Torqued to
minimum of 10 ft. Ibs.

Nut Count - 16

FIELD NOTES

Ibs.

Connector Post
Bolt grade 5 nut 3/8" to Grade 5 3/8" J
bolt. Nuts torqued to minimum of 10 ft.

[7
-

-

]
H

[]
H
[

FIELD NOTES

Drill 6"x36" deep hole, tamp and place
pilaster. Back fill hole once pilaster is
placed

KEY PLAN

©

Cell"C" | cell"B" | Cell'A"

With Deck | Cell"E" | Cell'D"
Over | 2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Rear Deck Type 1
View C & B
Installation Bolts
Detail 1

&!é); Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Install Porch Connector
Bolts Grade 5 - 3/4" x 4"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 4

Install Connector Post Bolts
Grade 5 - 3/4" x 6 1/2"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 4

Install Connector Post Bolts
Grade 5 Rivnut- 3/8" x 1"
Torqued to minimum of 10
ft. Ibs.

Bolt Count - 4

FIELD NOTES
Deck Connectors

\
\/ e o |
= ~ m. i | ‘\
o | — )
'ﬂ, ons, ;
N '-.-,o
2] .‘ ._.‘ 1/
FIELD NOTES \ &/
Grade 5 Bolt & Nut 3/4" x 4" Deck Connectors N \ >
Bolts, torqued to minimum of 10 ft. Ibs. FIELD NOTES r gglatgetgrﬁggd&tglumtir?;i/r‘:m)r(nzof 10 Ibs e

Deck Connectors
r Grade 5 Rivnut 3/8" x 1" B Site Assembly
Bolts, torqued to minimum of 10 ft. Ibs. Rear Deck Type 1
View C & B
Installation Bolts
Detail 2
KEY PLAN
©
Cell"C" Cell"B" | Cell"A"
With Deck | Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ 4&%’%’
ariocr | oo %
PAGE 171
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied
to Hand Rail bolts

Bolt Count - 8

Install Hand Rail Connector
Bolts Grade 5 - 3/4" x 6
3/4" Torqued to minimum of
10 ft. Ibs.

Bolt Count - 8

RS

H

FIELD NOTES

Hand Rail Connectors
Grade 5 Bolt & Nut 3/4" x 6 3/4"
Bolts, torqued to minimum of 10 ft. Ibs.

FIELD NOTES

Silaprene Solidseal applied to hand rail
bolts before fastening

FIELD NOTES

Hand Rail Connectors
— Grade 5 Bolt & Nut 3/4" x 6 3/4"
Bolts, torqued to minimum of ft. Ibs.

KEY PLAN

©

Cell"C" | cell"B" | Cell'A"

With Deck | CellE" | Cell'D"
©> Over | 2nd Floor | 2nd Floor

Loft Loft
3rd Floor | 3rd Floor

DRAWING

Site Assembly
Rear Deck Type 1
View C & B
Installation Bolts
Detail 3

&!é); Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


QA Finished Checklist

Digital photos each
execution task for QA
verification and check off on
drawing package

Adhesive/Sealant applied
to Hand Rail bolts

Adhesive/Sealant applied to
Rear Deck Landing surfaces
which contact Cell C

Install Hand Rail Bolts
Grade 5 - 3/8" x 4" Torqued
to minimum of 10 ft. Ibs.

Bolt Count - 2

T
H
]

L]

1

[

FIELD NOTES

Silaprene Solidseal applied to hand -

rail bolts before fastening

FIELD NOTES

Rear deck landing sealed with
Silaprene Solidseal

—

Pre-cast steps

FIELD NOTES

FIELD NOTES

Hand rails
Grade 5 Bolt & Nut 3/8" x 4"

Bolts, torqued to minimum of 10 ft. Ibs.

Rear deck landing sealed with
Silaprene Solidseal

KEY PLAN

©

cell'c” | cell"B"

With Deck
Over

Loft
3rd Floor

Cell "A"

Cell "E" | Cell'D"
2nd Floor | 2nd Floor

Loft
3rd Floor

DRAWING

Site Assembly
Rear Deck Type 1
View C & B
Finished
Installation

&!é); Hartf%rb

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


Walls Bonded with Weldon SS304

Bolts, torqued to a minimum of 10 ft.

Grade 5 Rivnut 3/8" x 1"

opening is 3 7/8’: after

floor coveri

Open back staircase:

Riser

applied.

ing is

S

WA =

|l
Rl S
( DRAWING
ite Asse
T or Batl
T
{ Vie B
al stallation
Detail 1
KEY PLAN
Cell"C" Cell "B" Cell "A"
With Deck | Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ & Hartdn L
Loft Loft %
3rd Floor | 3rd Floor
PAGE 174

PN

Walls Bonded with Weldon SS304
rqued to

Adhesive
nished Checklist

Plumbing reconnection
Electrical test

Wall Count - 5

Install Wall Rivnuts Grade 5
minimum of 10 ft. Ibs.

QA Fi
-3/8"x 1" To

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp

Nathan Pingel
staircase


o] E g8
z eme&ﬂm"
2| 49o<cl

> P
5 MMT.me

\l\\‘\
——

=\
N
y o —

~Z_

f
KEY PLAN
Cell"C" Cell "B" Cell "A"
| | S | 5% | @® B AROL
Loft Loft
3rd Floor | 3rd Floor %
PAGE 175

WAL= =< nn.. N
v N =
\A‘

| /%/‘\ N\ nn. —

Q|0 <
eeeeee
|l o > >

[%] c

S gsg
T = 8

o c ®
clecoa

o 0=

clzZes|ssg itk
llllllll
2058 c32/8¢



Lori Pingel
AC_stamp

Nathan Pingel
staircase


\ \ PRTLAR V4
( \ “Erep M
\ y S =
DRAWING
Site Assembly
i Third Floor Bath
Type
View A
( Toilet and Sink
’ Installation
KEY PLAN Detail
Cell"C" Cell "B" Cell "A"
With Deck | Cell 'E" | Cell'D"
©> Over | 2nd Floor | 2nd Floor @ & Hartdn L
Loft Loft %
3rd Floor | 3rd Floor
PAGE 176

Qo <
O goocw| £2
(3] [o)) =

Ny S Xx
5|8 8%0

Q| O c ®
clec o
[SReR=]



Lori Pingel
AC_stamp


49 Corner Connector Pin

50 Intermediate Connector Pin
64 Locking pins

65 Bolt connector pin

66 Pre-Cast corner Foundation

Pre-Cast intermediate Foundation

Pre-Cast Key Foundation

DRAWING
Continuous
Foundation
Part Identification
KEY PLAN Type 1
Cell"C" Cell "B" Cell "A"
Wi Deck | callE® | ca'or ﬂ‘%
Cp| "o | i | v | (@) B Rartidr ’
N %
PAGE 177
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


P

| Field Notes- Step 6 \

Field Notes- Step 10

| Field Notes- Step 7

f]

| Field Notes- Step 6

Field Notes- Step 8|
and
[ Field Notes- Step9 |

™

| Field Notes- Step 2

Field Notes

Step 1

Dig foundation trench 24" wide to a depth of
36" or state requirements

Step 2

Shoot grade and drive steel stakes into the ground
to establish correct height

Step 3

After level grade has been achieved use clean
fill earth to fill voids in between stakes. Rake
until level

Step 4

Using vibratory compactor "Ram Compactor"
which compacts soil to a minimum of 1.5 tons of
forces. Compact soil evenly around the foundation

Step 5

Re-shoot to check grade level in the foundation
trench. If under grade has taken place using clean
fill earth fill void and rake level. Continue process
until the entire foundation trench meets standard

Step 6

Cover crawl space area with vapor barrier.
Allow vapor barrier to drape into
foundation trench with the edge of barrier
sheet touching bottom of the foundation
trench

Step 7

Set number 66 pre-cast corner foundation
section using a laser line to check level and
square

Step 8

Set number 66 pre-cast corner foundation
section at the opposing end of trench at a
distance of 178" from base of corner
foundation. Using a laser line to check level

and square

Step 9

Check by laser for alignment between the
two components

Step 10

Apply sealant to number 67-A pre-cast
intermediate foundations using (Silaprene
Solidseal) apply on all surface, which
contact other concrete

KEY PLAN
Cell"C" Cell "B" Cell "A"
With Deck | Cell"E* | cell'D"
©> Over | 2nd Floor | 2nd Floor
Loft Loft
3rd Floor | 3rd Floor

DRAWING

Continuous

Foundation

Installation
Type 1

Step 1-10

st!é): Hartf%rb

PAGE 178

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


| Field Notes- Step 15|

Field Notes- Step 13 |

L | Field Notes- Step 12|

C\

Field Notes- Step 13

| Field Notes- Step 14

Field Notes- Step 11

Field Notes

Step 11

Set number 67-A pre-cast intermediate
foundation section. Using a laser line to check
level and square

Step 12

Check alignment of the (Locking pin holes) If the
holes align, move to the next step.

Step 13

Apply sealant to number 68-A pre-cast key
foundations using (Silaprene Solidseal)
apply on all surface, which contact other

concrete

Step 14

Set number 68-A pre-cast key foundation
section. Using a laser line to check level and
square

Step 15

Check alignment of the (Locking pin holes) If the
holes align, move to the next step.

Loft Loft
3rd Floor | 3rd Floor

DRAWING
Continuous
Foundation
Installation
Type 1
KEY PLAN
© Step 11 - 15
Cell"C" Cell "B" Cell "A"
‘With Deck Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ Rt Hartfdr

PAGE 179

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


Field Notes- Step 16 |

| Field Notes- Step 16
and
| Field Notes- Step 17

Field Notes

Step 16

Set number 66 pre-cast corner foundation
section at the opposing end of trench at a
distance of 314" from base of corner
foundation. Using a laser line to check level

and square

Step 17

Check by laser for alignment between the
two components

Step 18

Apply sealant to number 67-B pre-cast
intermediate foundations using (Silaprene
Solidseal) apply on all surface, which

contact other concrete

Loft Loft
3rd Floor | 3rd Floor

PAGE 180

DRAWING
Continuous
Foundation
Installation
Type 1
KEY PLAN
© Step 16 - 18
Cell"C" Cell "B" Cell "A"
‘With Deck Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ Rt Hartfdr

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


Field Notes

Set number 67-B pre-cast intermediate

Step 19 foundation. Using a laser line to check level
and square
Step 20 Check alignment of the (Locking pin holes) If the

holes align, move to the next step.

Step 21

Apply sealant to number 67-B pre-cast
intermediate foundations using (Silaprene
Solidseal) apply on all surface, which
contact other concrete

DRAWING

KEY PLAN

©

Cell"C"

With Deck
Over

Cell 8"
Cell "E"
2nd Floor

Loft
3rd Floor

Cell "A"

Cell 'D"
2nd Floor

Loft
3rd Floor

Continuous

Foundation

Installation
Type 1

Step 19 - 21

&!é); Hartf%rb

PAGE 181

April 11, 2006
PDG Domus 060323-1

&\


Lori Pingel
AC_stamp


Field Notes

Step 22

Set number 67-B pre-cast intermediate
foundation. Using a laser line to check level
and square

D
/ Step 23

Check alignment of the (Locking pin holes) If the
holes align, move to the next step.

Step 24

Set number 68-B pre-cast intermediate
foundation. Using a laser line to check level
and square

Step 25

Check alignment of the (Locking pin holes) If the
holes align, move to the next step.

Field Notes- Step 23
and

| Field Notes- Step 24

e

DRAWING
Continuous
Foundation
Installation
Type 1
KEY PLAN
© Step 22 - 25
Cell"C" Cell "B" Cell "A"
@W"BE;“ Znarioor | 2na oo | B B Rartidh ’
Loft Loft %
3rd Floor | 3rd Floor
PAGE 182

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


Field Notes

Check foundation using a laser line to

C
\ Step 26 check level and square
Step 27 Check alignment of the (Locking pin holes)
; _ ; ] Field Notes- Step 28 Fill Locking pin holes with Epoxy and set #64
| Field Notes- Step 32 | Field Notes- Step 32 \ | | Step 28 Locking pins in place (there are 14 locking pins)
=
Step 29 Wipe access sealant from outside edge
[ Field Notes- Step 26 /—D

Step 30 Bolt in place Connector pins (There are 12 pins)
Step 31 Mount foundation connector alignment tool

onto foundation

Field Notes- Step 30 Align connector pins and torque down to 25 Ft.

Step 32 Lbs. (Leave alignment tool on foundation during
back fill procedure

Back fill with clean earth to grade around
Step 33 foundation both inside and out

Using vibratory compactor "Ram Compactor"”

Step 34 which compacts soil to a minimum of 1.5 tons of

forces. Compact soil evenly around the foundation
inside and out

Using clean pee gravel place 2" x 4" topping on
Step 35 the vapor barrier in the crawl space area. Rake
gravel level

Leave alignment tool on foundation until

Step 36 home arrives

| Field Notes- Step 27
and

| Field Notes- Step 28 Field Notes- Step 36| DRAWING
| Field Notes- Step 29 Continuous
Foundation
N Installation
‘ - Type 1
B —
\A KEY PLAN
T~ © Step 26 - 36
‘ Field Notes- Step 33 ‘ cell'c' | cell'gr | cell"a”
‘With Deck Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ %“m

Loft Loft
3rd Floor | 3rd Floor

&\

PAGE 183

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


g
CEES
£

io
N
<
=
2
°
@
c
5}
2
7

Self Tapping Screws

Sy
\\‘\
o0, \
,’, '-,_ !. DRAWING
e %
§ antono 7Y
- CoLdS! ip
Z %) © 20 ..". H M f
NSRS Cell
AN mbly-Cell
a il HVAC Il
KEY PLAN m W
©® (Type 2)
Cell"C" Cell "B" Cell "A"
‘With Deck Cell "E" Cell "D"
©> Over | 2nd Floor | 2nd Floor @ & Hartdn L
Loft Loft %
3rd Floor | 3rd Floor
PAGE 184

t
o
[
>
]

4
<

8

R=

=
©

<
(%]
1]
2
[

Supply air

\
=\
.mﬁ\;_\ \“‘“\\”/’/ .,/‘/
, ._.w»sm,‘ .,/‘/ M/\/////ﬂ////// /
Y ¢ \ ,N/ﬁ/ /‘\‘A&W\A///// 5
N AR ¢ //ﬂ..a/a.ﬁ./.,mw‘\.. /%ﬁ“ﬁw/%/ / 3
\ % . , .,, R /‘\\ )

B\
ST L M M" : £\ %/

Z=, /// :
E

N

X \ I \
\ \ W
\ \ ) 'lV\n st
\\ % =7z N\ \ \
\\ r\\\‘.\“« SIS \ N\ \\¥ \ =\ Z—R
VY YOR— =\
74 = S =
4 = W\ BB
\\ LN 22\ A — = = N\
4 t/wan‘ — = Zam\
2 BP0 = (awer=—
> N2
o =
e & \
< W \ / =

o
£
3 2
=
@ §5s
0w
c ESon
= o x - =
c e =S 0
W = ox <
e 2 B
I = o
© = S o
Q - 52
o] QS Dm
£ w2 @
= <3 ©
[T ...HU [
=3
-
@

fasten

PDG Domus 060323-1

April 11, 2006


Lori Pingel
AC_stamp


FIELD NOTES

uniroyal Silaprene
Adhesive/Sealant applied to surfaces of Home
and concrete foundation. Apply sealant to all
edges around the foundation and the home.

Cutaway of poured in place basement and foundation (Typical)

FIELD NOTES

Basement Staircase Installation
Install 3 major parts installation in the following order

1.Staircase landing
2.Upper staircase
3.Lower staircase

FIELD NOTES

Foundation mounting points

Ref:Pagel83 Home mounts the
same as (Continous foundation)

Type 1

DRAWING

Basement Installation

(Typical)
Block / Poured in
place
KEY PLAN Staircase
Cell"C" Cell "B" Cell "A"
B | znarior | 2naFoer | B B Rartidh
Loft Loft
3rd Floor | 3rd Floor

April 11, 2006
PDG Domus 060323-1

&\



Lori Pingel
AC_stamp


FIELD NOTES

Basement Staircase Installation

Install 3 major parts installation in the following order

1.Staircase landing
2.Upper staircase
3.Lower staircase

Lower
staircase

3/8"Grade 5 Bolts /
amount 7

Basement staircase compoents

3/8"Grade 5 Bolts / amount 5

Upper
staircase

Staircase
Landing

FIELD NOTES

Basement staircase compoents to be installed

3/8"Grade 5 Bolts / amount 2

Open back staircase:
Riser opening is 3 7/8” after
floor covering is applied.

N

3/8"Grade 5 Bolts / amount 6

x 3/8"Grade 5 Bolts / amount 4

DRAWING

Basement Installation
Staircase Part

KEY PLAN

Identification

©

Cell"C"

With Deck
Over

Cell 8"

Cell "E"
2nd Floor

Loft
3rd Floor

Cell "A"

Cell 'D"
2nd Floor

Loft
3rd Floor

@ o3 2PRo;
C#PAGE 186 %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp

Nathan Pingel
staircase


Lower
staircase

s

Basement Staircase Installation
Install 3 major parts installation in the following order

1.Staircase landing
2.Upper staircase
3.Lower staircase

— e -

Staircase
Landing

Upper
staircase
\
\
D

FIELD NOTES

3/8"Grade 5 Bolts / amount 5 Upper
staircase fastening to frame of home

FIELD NOTES

3/8"Grade 5 Bolts / amount 10
[> Landing to wall / floor fastening
using concrete (Tapcon)

FIELD NOTES

Upper staircase bolts to landing

Basement staircase compoents to be installed fastening
details parts 1 & 2

DRAWING

Basement installation
Staircase Fastening

KEY PLAN 1
©
Cell"C" Cell "B" Cell "A"
FIELD NOTES @W"Bv":f* Znarioor | 2na oo | B —M  Nartdn B
Loft Loft
3/8"Grade 5 Bolts / amount 2 ard Floor | 3rdFloor %
PAGE 187
April 11, 2006

PDG Domus 060323-1


Lori Pingel
AC_stamp


Open back staircase:

Riser opening is 3 7/8” after
floor covering is applied.

FIELD NOTES

3/8"Grade 5 Bolts / amount 5 Lower
staircase fastening to Landing

Basement staircase compoents to be installed fastening

Staircase
Landing

Lower
staircase

details parts 3

®

DRAWING

2

Basement installation
Staircase Fastening
eS):  Hartfdr

PAGE188

KEY PLAN

Open back staircase:

Riser opening is 3 7/8” after
floor covering is applied.

FIELD NOTES

o~
P
<)
S0
2S5

=

c

T 25
PR
Lnog
S8 E O
Bmsp

T3
w8 S
oV

=]
KR
£29
03y
o
«©
)

1.Staircase landing

Install 3 major parts installation in the following order
2.Upper staircase
3.Lower staircase

Basement Staircase Installation

i
o
N
(a2}
o
o
60
o w
o 3
N £
- O
halla
=0
50
<o


Lori Pingel
AC_stamp

Nathan Pingel
staircase

Nathan Pingel
staircase


—

Oy
Y

=

_
L
-

] i W
TS |
L = ] %%ﬁ
=5
i§t%L g
Staircase
Landing

A/ I
T
i

]

e
[

Ny
')

i
/Ay

7
Z
Z_A
Z
7]
/4

[T
JTIL
|/ YN/
i

N

A

I

Basement staircase compoents to be installed fastening

details parts 1

Basement Staircase Installation
Install 3 major parts installation
in the following order

1.Staircase landing
2.Upper staircase
3.Lower staircase

FIELD NOTES

[

FIELD NOTES

3/8"Grade 5 Bolts / amount 10
Landing to wall / floor fastening

using concrete (Tapcon)

Before alignment place landing in
contact with wall.
Using plum-bob or laser, align
landing edge to frme of home.

DRAWING

Basement Installation
Staircase Procedure

KEY PLAN 1
C" | cell's" | Cell'A

h Deck | Cell"E" | Cell'D
©> Over | 2nd Floor | 2nd Floor

o Lh @ &!é); Hartf%rb
5 9PAGE189 )

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


Basement staircase compoents to be installed fastening

details parts 2

Basement Staircase Installation
Install 3 major parts installation
in the following order

1.Staircase landing
2.Upper staircase
3.Lower staircase

FIELD NOTES

Align upper staircase with bolt holes in

FIELD NOTES

frame of home install 3/8"Grade 5
Bolts / amount 5
Once Upper staircase is fastened to
frame of home install 3/8" Grade 5
bolts amount 2 to landing.
Retighten all 7 fasteners.
Ref: Page 187 detail B

A

3/8"Grade 5 Bolts / amount 2

Staircase
Landing

DRAWING

Basement Installation
Staircase Procedure
2

KEY PLAN

©

Wi Deck | callE® | ca'or ® ﬂ‘_AE%
Over | 2nd Fioor | 2nd Fioor
£(S):  Hartforl

Cell"C" | cell"B" | Cell'A"

Loft Loft
3rd Floor | 3rd Floor

&\

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp


| 4T 7

Basement staircase compoents to be installed fastening
details parts 3

) E E
5s8 ~ e Upper
1 staircase
e I Basement Staircase Installation
” Install 3 major parts installation
° in the following order

. ‘T‘FF 1.Staircase landing
|/ 2.Upper staircase

” [ F 3.Lower staircase
| ] =
FIELD NOTES

Staircase

Landing

N
‘ g g:s Align Lower staircase with bolt holes
. in frame of landing install 3/8"Grade 5

i ] Bolts / amount 5

g Once Lower staircase is fastened to
000 X
° frame of landing mark concrete for
L holes to be drilled. Remove Lower
r staircase and drill holes,reinstall
Lower staircase.

Install 3/8" Grade 5 bolts amount 2 to
fasten Lower staircase to floor
Retighten all 7 fasteners.
Ref: Page 188 detail A

3
DRAWING
Open back staircase: Basement Installation
EIELD NOTES Riser opening is 3 7/8” after d Staircase Procedure
floor covering is applied. <EY PLAN 3
3/8"Grade 5 Bolts / amount 2 ©
(concrete tapcons)
Cell"C" Cell "B" Cell "A"
Cy| "o | ik | i | @) e HarttdiO),
oo | 3P %

April 11, 2006
PDG Domus 060323-1


Lori Pingel
AC_stamp

Nathan Pingel
staircase


	Table of Contents
	In-Field QA Sign-Off
	Finished Product Examples
	Home Assembly Steps
	Definitions
	Schedules
	Site Assembly-Footing-Foundation
	Site Assembly-Cell A
	Site Assembly-Cell B
	Site Assembly-Cell A & Cell B
	Site Assembly-Cell D
	Site Assembly-Cell E
	Site Assembly-Cell C
	Site Assembly-End Gable
	Site Assembly-Roof
	Site Assembly-Cell C Deck Cap
	Site Assembly-Small front porch
	Site Assembly-Large front porch
	Site Assembly-Rear deck
	Site Assembly-Third Floor Bath
	Site Assembly-Continuous Foundation
	Site Assembly-Basement Installation Block/Poured in place

